ing statements with rcfcrence to

e
.

Consider the follow )
the Workers and Peasants Party : Party
1. The Workers and Pcasa'itsf :11 0
1927 and was given the 10
Organisation. ork within
2. The objective of this party ;;a;(:om‘:de a more
the Congress so that it cou tion of
revolution inclined party and an organisa
the common peopl ct?
Which of the above staterfients is/are corre

was formed in
£ an All India

(@ Neither 1 nor2 ‘(b) Both 1 and 2
© Only 2 ) Only 1
- ey L

2. Consider the follomng(?\j/ents and arrange them-in
chronological order : ‘ ‘
1. EastIndia Association ~ "
2. National Indian Assoclanon v' 1
3. Indian Society L% N
4. Indian Association -

Select the cotrect answer from the codes glven below
@ 1,3,2,4 )1243
© 1,2,3,4 ()2143

3. Consider the followmg(;yents an ; arrange them in

correct chronological ofder startlng from the earllest
to the last activity : ,

1.  Royal Indian Navy Revolt o B
2 Announcement of Cabmet M1ssron

3. Formation of Interim Govemment
4

Arrival of a UK Par]xamentary Delegatron in|
Delhi i+ ST S

Select the correct answer from the codes glven below

(@ 41,23 (b)4321

¢ 2,413

0(?) 4,2,1,3

4, Consxder the followmg%tements with reference to

the Justice Party : ’(2 ’ el
1. The Justice Party oPPosed Congress by calling
it a Brahmin dominated’ brgamsmm,n

2. It claimed the same LO‘YW
for non-Brahmins as the
had given to Muslims.

Which of the above statements ls/are °°l‘l'ect ?
(@) Neither 1nor2  (b) Both| and 2’
(© Only2 (d) Only1
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5.

Given below are two statements, one is labelled as|s,

Assertion (A) and the other as Reason R).

Assertion (A) : The value of national currency
determined by demand and supply of foreign
currency is called flexible exchange rate.

Reason (R) : Demand and' supply of the foreign
currency is being determined by the Central Bank.

Select the correct answer from the codes given below :
(@) (A)is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(A) is true, but (R) is false. 3
Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(©)
@

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason ®).

Assertion (A) : There is a positive relationship
between Human Development Index (HDI) and the
Sustainable Development Goals (SDGs) ranking of
Indian States.

Reason (R) : The underlying dimensions of SDG
targets are closely related to education and health
aspects.

Select the correct answer from the codes given below :
(@) (A)is false, but (R) is true. )
(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).
(A) is true, but (R) is false. :
Both (A) and (R) are true and (R) is the correct

(©)
G

explanation of (A). ) 7.

Match List-I with List-II and choose the correct
answer using the codes given below the lists :

List-I List-II
(State) (Rank according to expenditure
on infrastructure 2019 — 23)
A. Maharashtra 1. First
| B. Uttar Pradesh 2. Second
C. TamilNadu. 3. Third
D. Karnataka 4. Fourth
Codes :
A B C D EyE
@ 2 1 3 4. lﬁ%‘ﬁ
®). 1 27513 v 4
G 2 3- ™1 4
@ 4 1 2 3

6.

DST.F—1-23

e

zgr R F (R) FE N |
o~ . EE{TEFI"EIEH@ ﬁ%;ﬁ N
T e, e Pl
3 Ry e TSI
@) (A)nsra%,ﬁﬁ(ﬁf'ﬁ%'

(a) @ (R) 31 A & 3R (R), (A) Hr

AT T € | )
@ (AT RFGR)TAE]
EZ; (A) @ (R) 9 W€ 8, B R), (4) B @

e g Fare | '

13 o o Re e &, R § T =1 Ao (A) qup
TR FNHOT (R) FETE | Wp

SRR (A) : A foFT JEHS (TETE)
ﬁaﬂwﬁmmw{;g EDUD
« /FROT (R) : Fad fohme 71 T[T AT
ﬂ%ﬁqmageﬁﬁuﬁaﬁtgﬁq
(a) (A)m%,%(mm;%%
* (A) 7T (R) I T E, B (R), (A) A wd
ol AT TE FET R |
(A) W& 3, forg (R) eI /1
(A) @1 (R) ST |t € 3t (R), (A) #i wd
AFSATFAT R |

-1 1 -1 & gafm AR ofk gt % 9 o
T e T ST T ST - e
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DST.F-1-23
. Indran Constltutlon 8. Wﬂﬁm?ﬁm@ﬁ Slli N %/%
8. The Concurrent hst of  the )/ SR TS SO i hasts
includes ; ‘ @ 2. qmEE freee ]
1. Trade and Commercss‘ AT ‘%Q " SAURER ;
Bl g ;\dulteratlon of Goo ! :n%ﬁqqqz@ﬁﬁﬂﬁwgﬁq ‘
. uccession en below 3R 133
from the codes glV (@ 1,23R3
Select the correct answer from a3 ¥ 3ﬁ‘{ 3 @ ¥
@ 1,2and3 o :)a‘l‘ 3 A © 2 _
d) On Y ‘ ; :
(© 2and3 ife( 2 e 9. mﬁmaﬁé’rwmé’rﬁﬁmw|maﬁﬁ
9. Fathima Beevi died recently Consrder the fo owing | TrafaRes Furt w fmw Eﬁ”‘h"ﬁq -
statements regarding het * 3 . /1/33 Wa;qaﬁa AT ht et RUL
1. She was the ﬁrst.\;;oman ]udge of the Suprem
‘ Court of India. - 3%’1% 1997 - 2001 w%&am%m%mﬁ
2. She served as the Governor of ‘Kerala from e ‘
1997 - 2001. me@aﬁﬁmm
3. She was the first Muslim woman to enter into L/{‘*"‘l |
_hrgher_]udrcrary o, @, o off | ﬁ’@ﬂ'ﬁﬂ
Select the correct angwer from the codes given below : :ﬁ%ﬁq’m? ET'R’ 3‘5'1 S il
@ land3 - (b)’ 1and?2 S (@ 13R3 )1
© 1,2and3’ @ ony1 ey 123ﬁ‘3 @ é;aall L
10. ' With reference to the ¢ {I\}Yatronal Intellectual Property 10. <sfig aﬁ%as qHgy 3‘|ﬁF=F|'{ =ﬁﬁ[” %‘ ad #
Rights Policy”’ consider: the following statements ‘ ﬁw%iﬁam“ﬁwﬁﬁn o '
L. It reiterates Indra’f" commitment to Dgha I8 T T TSeer Bﬁ'( o T % ufy v
Development Agenda and the TRIPS agreement. e ﬁ'ﬂmﬁm%l g o ¥ s
i gepartn;erllt of Indu fal Pohc;; &:nd Prl(:ll:l(ﬁuo?u 1sl %@Iﬁr&ﬁ Ry i Wﬁ? ﬁNT*T, T F A
€ nodal agency" for regulating ellectua AT SRRy ﬁﬁqq:r W
Property Rights in- India, - - ‘“ﬁFF(UT%I R % T a; fera
- Which of the above statements 1s/are correct ? 3‘1‘5?5 i i
(8 Neither 1 nor2 - ®) 0n1y2 :-f§ :li?g?;/ﬁ F&ﬁ%/% / E%%
() Both1and2 (d) Only 1 ' @) () ¥z ' 5
s b vy R L/x 3tk 2 3t @ Fa@i
11.  Which Amendment Acts deal w1th Local Gow)ernance :
Institutions in India 9 = of 11 SN Heiee i mﬁwmawmaﬁ%
(@ 86™and g7th Ameﬁ“gmem Acts G 7
(b) ’ 63 ang 64th Amendment Acts @ 86T it 8731 I
() 73" apg 74th Amendment Acts ®) 6331 o 643w I
nd rd i A8 T35 3R 7431 G SiEio
(d) 42Mgpg 43" An\endment Acts
: i TR @ 4231 o 43 wiviem srfeifiy
12.  Consider the following statements With ref; ' 5 .
Special Officer for Linguistic Mmormes e 0 12. A ﬁw & %Q fordry w % o |
1. Inthe Constrtutron there is a Provision for the ' . m“‘ﬁ"ﬂfﬁﬁﬂr
Post of Special Officer for Linguistic Minorities »1\ Him g, T T %g Rl Steoieat &
for every State, ' %Qﬁﬂwmm%qaw BIEL e, i%qlw%l
2. A newArticle 350 B was added for this by th 99 Ty E3ioc TF
9th Constitution Amendment Act, il / T T3 350 B ST & o
Which of the above statements is/are correct ’7 mﬁ%aﬁq & wr
(a) Neither1nor2 . (b) Only 2 RAERE TRE 2
(c) Bothland2 (d) Only 1 © 13hs s
e Ll @ ¥
------------- * 4* T L
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14.

15.

16.

(b)

...1.  Vellore Mutiny

4. Anglo-Nepalese War

leen below are two statements one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Most of the early nationalists
considered British rule as an act of providence
destined to bring modernisation.

Reason (R) They complained only against
“Un-British rule” in India.

Select the correct answer from the codes given below :
(@ (A)is false, but (R) is true. :
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A). .
(©) (A)istrue, but (R) is false.
(d) Both (A) and (R) are true and R) is the correct
. explanation of (A).

Which one of the following statements is not correct
about William A.J. Archbold ?

(@ He was - the Principal of Lahore’ College
Lahore.

He was the Principal of Gove_mment College,
Dacca.

He was the Principal of the Muir Central
College, Allahabad.

He was the Princi\pal of MAO College, Aligarh.

©
@

Consider the following events and arrange them in
chronological order starting from the earliest :

2. . Death of Nana Fadnavis
3. Recall of Wellesley

Select the correct answer from the codes given below :
(@ 4,1,3,2 ®)  2,3,1,4
© 3,1,2,4 @ 2,3,4,1

Match List-I with List-II and choose the correct

answer using the codes glven below the lists :

List-I List-IT

(Revolt) (Leader)
A. Paika Revolt 1. Edachena Kungan
B. Bareilly Revolt 2. Radharam
C. Malabar Revolt 3. Mufti Muhammad Aiwaz
D.  Sylhet Revolt 4. Jagabandhu Bidyadhar

Mahapatra
Codes :
A B C D

(@ 3 4 i, 020+ G5
® 4 3 1 2 e
(c) 2 1 3 4 lfl%if'1 ‘
@ 3 271 4

DST.F-1.23
433 o RTTCE, it & T T ANE (A) o
maaw(R)WW%

e e e
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14.
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15.

ﬁﬁzmﬁﬁ%wmgﬁq
(@& 4,1,3,2 ‘/ebf 2,3,1,4

(© 3,1,2,4 @ 23,41

-Iﬁxﬁﬁn%aﬁ%aaﬁrmaﬂwﬁm’r%ﬁﬁn
Wwaﬂmaﬂaﬁ:ﬁtgﬁm
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g,g%

v «Kohima Peace Memonal and

With reference to the wing statements is/are

Eco-Park” which of the follo
correct ?

. mme Was, held -on

Its inauguration - progra
git March, 2024 at Kohima.

2. It will be developed by South Korea o
Select the correct answer from the codes 8“"“‘

(@) Neither1nor2 ()’ Only_2‘ i
(¢©) Bothland2 ' (d) Onlyl

With reference to “Moblllty Arrangement  for
Talented Early-professionals Scheme” (MATES),
which of the following statements 1s/are:cbrrect ?
1. This is a bilateral framework between India and
' Australia. "f o
In this scheme Indian graduates (aged
18 - 30) with knowledge and sklils in specific
fields of study will be offeréd to llve and work
in Australia for up to two years. :

18.

Select the correct answer from the codes given below :
(a) Neither 1 nor2 (b) Only2
(c) Both1and 2 . .(d) Onmly1

19. . With reference to the International C?n{erence on
Nuclear Secunty (ICONS —2024), . whlch of the
following statements 1s/are correct ?
1.

2.

¢1- ;-s

| 90 j
This conference was held on 25th May, 2024.
India  has . recently ‘ reconstrtuted an
inter-ministerial Counter Nuclear~ -,QSmugghng
Team (CNST) to strengthen the nuclear security.
Select the correct answer from the codes given below :
(@ Neither 1 nor2 . (b) Only2: .- b
(¢) Both1and2 @ Only, 1, ;
20.  With reference

campaign,
correct ?

‘ ¢1.

to the “Pu'ul Lao Paise Pao”
which of the followmg statements is/are

"This is related to reduce forest ﬁ’res and to
* provide a source of income to v1llagers
The Chief Minister of Uttarakhand launched
this campaign, f"i

gl_vén below :
(). Only 2 "( b
(@ Only;

2.

Select the correct answer from the codes
(a) Neither 1 nor2

(c) Both 1 and 2

DST.F-1-23
copfaT Frifer TR aﬁtsa%qﬁ’amz%fﬁﬁﬂﬁ e

17.
FAaR E? ‘
jﬂﬁ;:ammswﬁ 2024a?raﬁ1%mﬁ
ity fRr Rl
2 @mmmﬁmmm'
o Rgmge A q@@Iwghe: . o0
JORELSEL by} HRT2 LY
© 1323 @Wl

S

sRreneh SR A9 3 R e e
e (MATES),%W&ﬁW%%Hﬁ%ﬁ# |1
FUT TR R/E ?

© %Waﬂta@%w%d’ra@%wﬂww%l

\}/wmﬁm%ﬁﬁgéﬁﬁmaﬂtﬁw
T JREAT Fehi (18 & 30 a1 <t o) v < o
wa@%mﬁwﬁaﬁtwmﬁﬁmﬁ

18. '

St ), ;
ﬁ%ﬁqwa@ﬁﬁvﬁwaﬁq '
@ Tar1ad?2 ’/(B) et 2
(©) 13ﬁt2??|=ﬁ ) aﬁal

19. W gtm w® amfg‘ta ¥ATH (ICONS — 2024) ¥

w3 P i v e et 1 7
1. I8 T 25 TS, 2024 1 SRR ¥ 77T 97 |

@ mﬁmﬁﬁmwﬁwaﬁﬁ%%ﬁ:
@wmmmﬁﬁ%ﬂaﬂ (CNST)'éFr

e R ® |
A fe e e & & vt s gf
(@ TN 17TE2 (b) FaA2
o 1seddt @) Fewr

20. oot @l - ¥ rei w&m%mﬁﬁwﬁ«r@a

T HH-A/A FIT T T 9

/%Wﬁmﬁwwaﬁxmﬁm
T A A et B | ,
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21.  Consider the following mountains and arrange them | 21, qﬁ?ﬁ = gﬁmﬁmﬁ%iﬁgz a;
in correct order from West to East by their location : agmtqﬁa“ﬁ‘ffﬁ 3
1. Karakoram 2. Pontic pl. FIHIH 2. ;H
3.  Hindu Kush 4.  Zagros @3. [Eatal 4. Az
Select the correct answer from the codes given below : :ﬁ%ﬁqnqizﬁﬂﬂﬁm 3 2: ) 431
@ 2,3,4,1 (b) 2,4,3,1 @ 2,341 (d; 4’2’3’1
© 41,23 @ 4,2,3,1 5y © 4L2 3“ ’
‘ =
¥ Wﬁ yarg fazm)
22. Which one of the following pairs (River — Dlrectlon) @ ﬁﬁﬁ’lf\@?f ﬂ""l\T (713pr 3R ¥ & H-a
is not correctly matched ? H‘é’tgﬂfﬂ'ﬂ '-73?% ?
(a) SyrDarya — North-West (a) Fwefar Mo g
(b) Amur river — North-East (b) 31{(:;-& - 3’6(—‘1?
(c) Mekong river — South-West © T _  cfyurafyew
(d) Angara river — North 3 . :ﬁﬂ _ I
23. Which one of  the following pairs
(Country — Oil field) is not correctly matched ? @ et E{"ﬁ @“ s ?‘?H) o @ w-a g fora
(a) Kuwait — Kashagan TE R Y
(b) Iran —  HaftKel (@ F@ - PROH
(c) Iraq A —  Zubair (b) = ;‘j - T
(d) SaudiArabia - Dhahran © T 5= TR o
(d) T amf ; LIC é%?é
24.. Consider the following statements with reference to
Mediterranean climate : 24. ORI WAy '25 wf i Frafafe Fort w
1. Itreceives rainfall in winter season. ﬁan-ﬁf%{q
2. Due to winter solstice, air pressure belts shift to / m;ﬁ-a;h—g-ﬁ aaf AT R |
e South L. e SR % wRor argere At ot
Which of the above statements is/are correct ? . IR Raas =Tt 31
(@ Neither1nor2 (b) Only2 IFFE T T W/&W'ﬂiﬁ%/%?
(c) Both1and2 (d) Onlyl (@ Tar1 qﬁze ®) Fa@2
- 132 A FaeT 1
25.  Consider the following statements with respect to the % ﬁ @ !
climate of Western Europe :
, P 25. qﬁaﬁ@q@rw%mﬁﬁnﬁmmm
1.  Western Europe receives rainfall in all months. R iR ;
2. "Western Europe is located in the belt of L ‘Iﬁ?ﬂﬁzﬁmﬁmﬂ T et a2 |
Westerlies. :
Which fthr ‘e: ;oo e % 2 e g v va o 3 ¥ s Rua ¥ 1
ich of the above statements is/are correc ¢
I9YH A W HT-A/A FUT g 2/ 2
(a) Neither 1 nor 2 (a) TId1TH2
(b) Both1land2 ®) 13;ﬁ-(2a:ﬁ
(c) Only2 ) Faw2
(d Onlyl (d A1

=




%g%

26.

27.

List-I _ List-II -
(Pass) (Height fro;n tS‘e?z Level)
- A. Debsa: 1. 5360 metres i .-
B. Rohtang 2. 455@) metres
C. Bara-lacha ' '3, 3?]% metres '»
D. Banihal 4. 2832 metres -
Codes : EN
A B 'C D
(a) 320 4
M) 1.3 g
=@ 371 4.2 ,
@ .1 4 23 s %

28

2. This region has rng):Fé than 130% irrigation

o February to June and harvested from July to October.

_ (a (A) is false, but (R) is true.

Consider the following statements with' reference to | 26,

Upper Gangetic agro-climatic region :
1.  This region encompasses central and western
Uttar Pradesh.

intensity and 140% chbpping intensity.
Which of the above statenée'n;ts is/are correct 7
(@), Neither 1 nor2 (b)} Both 1 and2 Y R
() Only2 éd)i Only 1

Match List-I with List-Il and choose the correct‘
answer usmg the codes given below the hsts

vaen below are two statements .one is labelled as
Assertlon (A) and the other as Reason (R).

Assertion (A) : Jute is an mdlgenous plant of India

Reason (R) : Jute is 4 Khanf crop sown from

Select the correct answer from the codes given below :

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

() (A)is true, but (R) is false. v
(d) Both (A) and (R) are true, but (R) is not the

correct explanation of (A).

DST.F-1-23

mw%m@m W%Wﬁﬁﬁ%@a
FeA R RERAIRT:
Amwwqﬁaﬂwmﬁﬁﬁﬁ%l

5 mﬁﬁﬁmnm%aﬁmm?ﬁ

w140%%|
ﬁ%ﬁqm@ﬁ@m‘z&wgﬁm : '
(@ TAA1TE2 Ay 1 3R 2 QT
(@ FEE2 (d) ércrm
u@‘tlaﬁx@‘rn%g&%ﬁfﬁmaﬂwﬁa‘r%ﬂ%ﬁq
T 52 T ST FT T ST : |
g1 -
(&) ﬂﬁi’ﬁﬁ@ﬁﬁ)
. A, qeE 1. 5360 ..
g oy o A P i agsoher
C. swemT 3. 3978 fiex
D. aE . . 4 g2
%< : , ‘
A B C D g&%
@ 3 1 2 4
® 1 3.2 4
@it Bpanenl i 42
@ 1 4 2 3
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| SWEHHOT (R) FETTTE |
- AR (A) : 2 v v R v d
R (R) @ ¢ T A 60 3, B wadt § o
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29. Match List-I with List-Il and choose . the corrcct(zg.) @_Iaﬁqﬁ’r 8K :ﬂ%ﬁQ
4 answer using the codes given below the lists : m@mﬁﬂﬁﬂﬂw ﬂﬁq :
List-I List-IT el geAt-11 _
(Author) '~ (Book) @aw) ) ‘ s
A. Lallanji 1. A Comprehensive History of A, et : 1', A HTE 2 IS
Gopal India : The Delhi Sultanat o Trer (Y .8 iaEE" Hqedd
N "."",‘ 4 q if?
B. Habiband 2. The Economic Life of B. gl I3} 2. s';l fiféeh ST 316
Nizami Northern India ‘ : fsmfton gfeam
C. K.S.Lal 3. Early Chauhan Dynasties | e iCly %.QH.???T 3. Tt = |v3|q SESIS
ot %g‘taqm;a@adla.
D. Dasharatha 4. History of the Khaljis | . D wwayEy -4 TS ,
Sharma B4E ‘ i
- Sl He :
Codes : ﬁgﬂ ; i A Bl € D
A B C D (@) il w123 4
()2 LA S
@ 1 2 3 4 ‘ e (©) i3 i 4uit i 2
® 2 Ligd o w33 e b (@5 Al Ieir 2 T |
© 3 4 1 2 , ' 30.‘ o ot e R :
@ 4 3 2 o , ﬁgﬂﬁmﬁﬂg{%mﬁm Wﬁgﬁaﬁsﬁ%
‘ . R wﬁqaﬁml

30. Consider the following statements : il 7 '
1. Kunwar Singh, Landlord of Jagdishpur in / RIS T Tl Tl aE F Nal H
Bihar, led the rebellion against the British. i mm@ﬁﬁ T2 & 6 |

2. Lord Dalhousie recognised the adopted son of mﬁﬁaﬁw g1/ T T 378 2
Rani Lakshmi Bai as the heir apparent. - | (a) Tarl ?%’i () FE«@2
Which of the above statements is/are correct ? ' /Qe)/ 13T2 ?Fﬁ (d)  FEA1
Ea; geglh;”;;ﬂ g gniyi— T |31 Frafafee Rt e v e AR e o s
c oth 1 an nly . azaﬁ:aaﬁﬁﬂq

31. Consider the following foreign travellers and arrange g 3&-11’1‘3 PR s
them in ascendmg chronolog1cal order . bty ;2' TS : (Z‘—t i
T o B | 2 e 58
2. Al-Biruni B b T B R SR L B
3.  Huentsang (Hiuen Tsang) AT k) ‘ ﬁﬁq%%ﬁﬁﬂﬁﬁ(ﬂﬁ?
4. Fahyan (Fa-Hien) f 4 & ) 4, 3, I RS (b) 1,2,3,4
Select the correct answer from the codes given below : (c) 3, 4 : ‘,lj Li7 @ 2,1,4,3
(a) 4’ 3, 1’ 2 (b) 17 2, 3a 4 ‘ : o . o
© 3,421 () 21,43 32. ‘%QTTQ% ﬁqﬁ%@ﬁmww

.32.  Given below are two statements, one is labelled as ?H\T@TW”(R)WW%l

Assertion (A) and the other as Reason (R). ﬁﬁw (K)! A = I I B RiECEEEIR 3R
Assertion (A) : Balban made his government firm H’T’fﬂ?ﬂﬁiﬂﬁ T 8 g o R |
and centralised all authority in his hands. ﬁm (R) : 9 SW-ufam m S TN m‘uﬁ q
Reason (R) : He wanted to protect the north-west WWWWI

. frontier against Mongol invasions. H=r feu e ﬁﬁ!ﬁﬁaﬁt.gﬁq

‘ Select the correct answer from the codes given below : - | | () ( A) W% ®R) T "
(@ (A)is false, but (R) is true. b A) T ﬁhgm »

R H
(b) Both (A) and (R) are true and (R) is the correct /()/ ;’II)GQTEF{(HT)%I W E M ®), () Fl'tﬁ
explanation of (A).
f ©) (AT, frg R) e

(¢) (A)is true, but (R) is false. i | E ) EA; & (R) ﬁ=(ﬁ :T{ﬁ %%l A) T
(@) Both (A) and (R) are true, but (R) is not the| /W g g (R), (&)



S |

With referenc,e'_w to the Age:of Consent-Act, 1891

consider the following statements ; : g

1. It was Behramji Malabari, a Parsi reformer
from . Bbmbay, who advocated for this
legislation. Wy Lt

2. The Act\was supported by the extremist wing

~ led by Bal Gangadhar Tilak. ;

Which of the a \fQ ¢ statements is/are correct ?

() Neimerél‘,ﬁor 2 (b) Only2"

© Bomlgﬁz “ (@ Onlyl

Given below f& two statements, one is' labelled as

Assertion (A) &id the other as Reason [R).

Assertion (A}‘?\Shivaji had to face opposition from

the big Deshmukhs. i

Reason (R) : These Deshmukhs were'not in favour

of an independent Maratha State and wanted to
remain as feudal lords of Bijapur:

Select the correct answer from the codes given below :

(@ (A)is false, but (R) is true. )
(b) Both (A) and (R) are true and (R) is the correct
explanation'of (A). RO e EE
©(©) (A)is true, but (R) is false. I.if]&ﬂ
(d) Both (A)nd (R) are true, but(R) is not the
3 correct eXPlanation of (A).. - - '
Which of the

owing reasons caused catastrophic
coral bleachingy and mass . coral - deaths in the
Andaman and Nicobar Islands ?-

(a) Increase(q- 2°C temperature in the Indian
Ocean i ; ’

(b). | Increased ‘:_ipdustn‘al activities - in the ~coastal
TORIONS 14, mfies mvifimms -t o

(© Decrease of temperature by 4° C in the Indian
Ocean ) Ty ' .

(d) Heavy marine pollution 3 S

Consider the following statements with respect to

Ashoka : Al : ‘ &

1. The definition of Dhamma given by Ashoka is
taken froff ¥Rahulovada-sutta”.

In the 14°% year of his coronation, Ashoka

. -appointed.ia new type: of . -staff, called
Dhammai-'-m:ahamatras. S e e

. Which of the aboye statements is/are correct 7

(a) NeitherCl“ﬂor_i (b) Bothland2

(©) Only2 s (d) Only1

Which measures are

the Sustainablg Development Targets, 2030 ? —

1. Making education free and compulsory -

2. Improving - basic school infrastructure and
embracing digital transformation

3. Expansion of agricultural programmes

4. Increasin‘g.}ipvestment in technology
Select the correct answer from the

(@ 1,2,3and4

2.

codes given below :
(®) land2

essential to achieve Goal 4 of

DST.F-1-23

6 el g e, 1891 % Tt i Pt

ol R i :

1. g o 3 U UT Gk, SEUHS Heen 3,
ﬁ%ﬁmwiﬁwiﬁiﬁl

2. 7@ b S aer TR fer % g Al
. wreadeft S 3 wwel A o |

S 3 A F-AVA T T A/ 2 i

@ TAL1TH2 (b)) FEA2

KO 123N d) a1

34, ) 3 Qe R E, Rt & o 0 TR (A) qen
AL I HWT (R) FETTEATR | ‘ :
ARer (A) : Rrasit it o et & ke 1w

) )
HRT (R) : I @ T qUST TT F 9a7 o 7dF o
ST 6 | & s Teerm = 9 |
ﬁ%ﬁqﬂqﬁt‘i%aﬁmgﬁq:

‘ (A) T B, g (R) @& B | ‘

®) (A) M ®) I T E o ®), (a) B T

TEAT AT R | :

© QT FFgER)TEEe)

@ (A) 3 R) I 7@ E, fog (R), (A)
T T AT gl i

35. ' feAM a1 et e F Prferfaa 8 & Rvg s
gun?gr&mﬁmqgmwmaﬁmuﬁmm
e ,

AR R weramme 35 e 2° ¢ o

) &t & shehfors afefeerat f ot B4
© R mEIm ST 40 c R
(@) T wr sor

“TgERgT AR R
2! mmﬁqﬁm%lﬁa&ﬁmﬁm
T o Tl Yohrt o sty < g oy
S § A B FoT w22 o
(@ TAr19d2 D) 13R2aE
(© wHaE2 (d)  Faer1

mﬁma&qzo3oﬁm4aﬁ Ezcicn
B/ AaEH L R fem

1. Remwr SEEIPECio) ‘
H %*Wﬁﬁ%w.
T YT
3. . R wElmt @ o
A e R oy

37.

aftEdT

e Reme e # & el smogfia
A2 1,2,3304 (b) 13f2
_________ €123 @ ¥



With reference -to Economic Growth, which of the
following statements is/are correct ?

1. Indian Economy is an Underdeveloped Economy.
2. Indian Economy is a Mixed Economy.

--3. J.M. Keynes is the Father of Economics.

g
38. -

(e
{

DST.F-1-23

(35, onfs e et PRI 8 A

/&9 L
ﬁ’? T TR Sreforawer

3. S, e ST S E

Select the correct answer from the codes given below : ﬁﬁqﬂq@ﬁﬁ%wﬁm 3ﬁ¢ :
(a) Only 3 is correct. : (@ Fad 3 Haﬁé‘lz I{TE.‘T% e XY E%%
(b) Only 1 and 2 are correct. : . E&% D) . Fad 1 s ad ¥ 5 =
(¢) Only 2 and 3 are correct. o ()  Faw2 i
i , () Fae1TERI
e (d) Only 1 is correct. _ phie e 3 af 200 "
39.  List-I contains the names of countries, whereaM@ -1 & I F AW T, ‘_’ﬁ% @‘H 2
List-II shows the Rank as remittances received in the |~ * warR} grr Sisft s Tf3r A e () F R Wﬁ'ﬂT
year 2022. Match List-I with List-II and choose the TR IE‘T-I T @.H ﬁ gﬁﬁ*ﬁl’ HifT St 'ﬁ'ﬁ:]’iﬁ e
© correct answer using the codes given below the lists : 2 R e mmg—g’@v—(gﬁq :
List-I List-II : el o 0 wER
(Country) ~ (Rank) e (51?7 ) o &%)
A. Me.x1co 1. First ] A éﬁ 1
R Gl (2 S 5w .
. India . Thir ' i
D. Philippines ' 4. Fourth $ :
Codes : I ikl :,' wl
A B C b»
@. 20,3 vmp g
®) iy L 27 3
) 1 . 2 3iiciie 4
@ 3 4 2 1 _ ,
40. With reference to India, consider the following
events : - : .

L. Nationalisation of Banks
2. Formation of Regional Rural Banks i
3. Adoption of villages by Bank Branches

Which of the above events can be considered as steps |-
taken to achieve “financial inclusion in India”?

(® 1,2and3 -~ (b) Only2and3

. (¢) Only3 . (@ Onlyland2 ) ¥ 1 30 2
41.  With reference to . “National Food Security Act”, [41.  “Tfar@m Qe Sifrfe %W‘fﬁ Fefofea # &
¥, which of the following statements are correct ? ’ aﬁ:pﬁmqﬁ}% ? .

(Fs ) infea
w;;s%maﬁtso% mﬁga;%mﬁwﬂa

L. It will cover up to 759 rural and 50% urban
population. : T

: v | T
2. It has special focus on nutrit . j Yy 4
women afld children. itonal S?PPOTt " '/2 ﬁm%*’;ﬁf g %ﬁw bt
3. It was enforced on July 5, 2010, . ' . "
Codes : 4 ~ ?R:““%ﬂﬁ,zmoaﬁmwwml
(@ 1and3are correct. ‘ - ’ (2) 1373 GRS ;’%
(®) 2and 3 are correct. by 23ﬂt3?€ﬁ%l N
(©) 1and 2 are correct . - x©®  13ik2 S g :
el L 2ad3aecomeer, S92 whg
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Which of the following statements are correct:

DST.F-1-23

42, Wéﬁlﬁ amuTi Sraqa % grey § Fefafed § §

: x ance ? A HYT AL S ?
g e ereGdﬁc\:,::n the transparency of 1 §.ﬁmﬁmﬁmﬁmm% '
- gGovemantce St & wnR e e A S |
overnmen . - ) .
2. e-Governance reduces the cost of Govemment -3/ : § m%mﬁmwmwm% |
3. e-Governance increases crtlzens, input into . 4 é et :ﬁw@ﬁmmaﬁmh
Government. J ; . ﬂﬁq
4. - (()}ovemance increases g bureaucratlc ﬁﬁqw%ﬁ@“ﬁwb 5 54
: red tapism. ‘ s k,(ﬁ)" 233 (b) 2 33
Select the correct answer from thé codes given below (c) 2,334 @ 1,
() 2and3 (b);%2 aod 4 |43, <9 i Qe i = P & fre
(¢) 2,3and4 . (d) 1 2and3 v i aﬁa’r@mﬁrrﬁﬁmmé?ﬁ%/%"
43. . The UPSC derives its functrons from wh1ch of the / aﬁ%m i
following sources ? ‘ (/2/ ‘El’%%
1.  The Constitution =~ o f 8 ﬁ AT e
2. Parliamentary Laws % ‘@ 3t :
3. Executive Rules and Orders TS
4. Conventions :ﬁ%ﬁqm@ﬁﬁﬂﬁmﬁﬁq :
Select the correct answer from thé(' codes given below : 1 3;ﬁ-( 3 B 1 A2
(@ 1land3 A % g?ildf- © 1,2,33W4 @ Faa1
(©) 1,2,3an dnly : i)
44.  Which one of the followmg is cSrrectly matched ? @ ‘ - ﬁ%ﬁ:{ | T Tt gi[i%m % : A
Constitutional Body ("} Constitutional ‘ it Titaanis
: { \d AmCle ; W
(a) National Commrssmn = 148 ‘ : =
_ for Scheduled Castes # il (@) Ui srgafea wfe smir - 148
(®) Election Commission ~ — 165 (b) Fratem i < 165
(c) National Commission - 340 m e ot v g
for Backward Classes ; © =it 340
(d) Finance Commission '~ 263 (d) forst aTrinr - 263
45.  Identify the correct chronologlcal sequence of the |4 ﬁ-r:,ﬁqf\@aa;g—a FIATH Y Je=ry W
fono‘glllllagnkan Prasad vs. Umon of Indla o b\ wwmm =
. Y . TR
2. Sajjan Singh vs. State of Rig!]qsthan i 3 &r&r s T
- 3. Golaknath vs. State of Py gb A '- 3 R R
4. Kesavananda Bharati vs, St@t'e of Kerala 7?[% mem
Select the correct answer from the:codes given below : mmfeﬁﬁm
@ 3,2,1,4 (b) 14,32 @ 3,2,1,4 1432
©) 3,4,2,1 d 1,234 ©) 3,4,2,1 @D 1,2,3,4
46.  Given below are two statements, one is labelled as | 46- ﬂ%?ﬁWﬁQ‘m‘{% e & ﬁ SRR (A) Tt
Assertion (A) and the other as Reason R). “ﬁ:qﬁm (R) eTTre 3 |
.. Assertion ' (A) :' Article 352 of fthe- Indian () : i wfRem ATRT 352
" Constitution deals with the" declaratlon ‘of. an Wwﬁwﬂﬁwﬁﬁ% |
ety TR (R) : ST R el oft v ey
Reason (R) : An emergency may ‘take place-at any FEAT R ; ®
time.
Select the correct answer from the codes glven below : "ﬂ%fé‘{‘zqiﬁz ’ET%Q“TE‘}W e
(a) (A)is false, but (R) is truegy, a)  (A)Ter R, Reg (R) W R :
(b) Both (A) and (R) are trugibut (R) is nor the ®) @A) w1 ®) 6w E ey (w), A) H v
correct explanation of (A) ¢ 4 _ ST T AT R (i
(c) (A)istrue, but (R)is falsegry - © AT, g (R) et 8 ¥
(d) . Both (A) and (R) are true iﬁﬁ}? ®)is the correct (d (A) T (R) M Vﬁ % e ®), (A) Eﬁr ad
explanatlon of (A) ?‘-\"h ____________ B L LS .o 2.1 FATR|

*12*
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4 : 3 & - T S
f%ﬂ Which' of the following freedoms is not guaranteed 47. 313’-@3 19 ¥ aida T S 39
by the Indian Constitution under Article 19 ? ¥ syl G g 3:ﬁ'{ & e
(@ Freedom to own, acquire and dispose of (@ chﬁrt@‘-’f @'ﬂaﬁm a;ﬁ B
roperty ) Tl o Tohd L SLEG))
() gregdom to assemble peacefully and without /Eg)) mmmmaﬁ;{#ﬁm
~ arms @ cﬁ; S Tﬁ fpea < Eaar
(c) Freedom to practise any trade or professmn : 55@'3%5” : PR = (A) e
(d) Freedom to move freely throughout tllxebccl)llll‘ljtl’y 48. :ﬁ%:"rﬁ EOC f?!)%w‘a:gl A
8. Given below are two statements, one is labelled as| - E‘Gﬂ' FROT (R
4 Assertion (A) and the other as Reason (R). SR (A) : T dfea & 3131:“'( T & §ﬁ5
Assertion (A) : According to theﬁIConstltutlonﬂcl)f s mﬁﬁm\aa sF T S tmmm e
India, the same person cannot nctlon. as the W ’GEh‘dTI o)
Governor of two or more States at the same time. B qzamzf:rgﬁ R ¥ W 153 ﬁ IT FaT
Reason (R) : Article 153 of the Indian Constitution | a;l‘%mﬁ; T a; %E @Wﬁ"ﬂl
states that there shall be a Governor for each State. - T gaa;ﬁﬁ'ﬂ'&ﬁ?ﬁﬂ . B
Select the correct answer from the codes given R B e [ T ® NEA %l
P i — R) i 8, g ®), (A) B 7@
(@) (A)is false, but (R) is true.. -(b) (A) qoar (
(b) Both (A) and (R) are true, but (R) is not the ¥ | i‘ﬁgﬂ
correct explanation of (A). © (A) H’Eﬁ%, , R)Hanaa% i (R) s £
© (¢} (A)is true, but (R) is false. T @ (A) T (R) ,
" (d) Both (A) and (R) are true and (R) is the correct R .
o, 49, Pl 39 -8 o o e e T 9
49,  Which one of the followmg palrs is not correctly | 49. o o . e B 5 ~
-matched ? a eI At R o ARG
(a) Equality of - Guarantc.ead onlyto Waﬁrgq"m—? %qgﬁﬁm% e
opportunity in public' - : Indian citizens / () Fiftr¥oma cy - anTiRt Td TR
employmenig Guaranteed to both qHEAaT 0y %Egﬁrﬂﬁﬁ"if 3
Equality be ore ~— Guar . g
® Lg;a o 100 rcitizens and : oyl %@ﬁmw‘a@ T foram-rser it wifwat
© .7 1. non-citizens EENEL (s g
(c) Altering the name of — Powelr (t)lfl'r a State @ ﬁﬂﬁﬂt@gﬁ _ dgefrufe
a State ‘ Legislature |~ TG T
(d) Creating a new State — Power of Parliament t( @ ghIH NIk Fifa IR 3i q!%ﬁﬁ S
50. Match List-I and  List-II- and - choose -:the correc T S@“TW T e 31‘?&
answer from the codes given below theL hsttsII %‘Eﬂ' !ﬁﬁ-ll
List-I S Ist- : 1 266
A. Consolidated Fund of India 1. " Article 266 A. g;aﬁqﬁaﬁﬁx ! aﬂ%zm
B. Finance Commission 2. Article 360 B. STRIAT | 3
.C.. Financial Emergency .. : , 3.--Article 280 C. ﬁﬁﬁ'qanq'ma 3, 280
.’D. ‘Comptroller and Audxtor 4 Artlcle 148 D. W%ﬁqqq;qa 4 313%?.'148
General of India =~ qg‘[ﬁ'@'[qﬁ’aa?‘?\?
Codes : ®E : o
. (@ 4 1. .3 2 Fay 4 1 &3 5
Oop iy 102 104 2 ®. 3 1 &3 4
© 12 3 4 =i () 1 2 A 4
@:1yi 3.0 2 174 @ 1 3 (2 4

S1. Which of the followmg are env1saged by the Right 51 il SR § e 3 3 > @Lﬁ

__against Exploitation in the Constitution of India ? mﬁ%ﬁ@*—‘w%—q——
1. Abolition of untouchability | T O
2. Prohibition of human trafficking and forced ‘_/2 N e e
labour ; HHS o8 MR ST e

3. Prohibition of employment of children in _ 3. wWEH AR EEEt i sty g e
5. factories and mines 4. ATIHEEH F Tt Y g

4.  Protection of interests of minorities M ﬁqqqmzﬁﬁgg}mgﬁq

Select the correct answer from the codes given below : @ 3 aﬂ'{ ) T 2 a3

(@ 3and4 - (b) 2and3 ) 134 (d 13wz

oo (@) _land4 @ lamd2 LSt 10 SRS




o EeE
S g2

53.

4.

S5S.

©

4.

-Consider the following statenlents ‘with reference to

the Congress Socialist Party : | .
1. The Congress Socialist Party was formed in
January 1934.

2. Jawaharlal Nehru formally Jomed thrs party due
to his sympathy for socialism.

Which of the above statemenis is/are correct ?
(@ Neither 1nor2  (b); s Jéoth 1 and 2.
(c) Only2 : (d) t nly 1

Consider the followrng evergts and arrange them in
chronologxcal order : -

“ Murder of Abul Fazl. ' i @%g
2. Death of Sheikh Mubarak e o e
3. Death of Faizi Fin ke
4.  Death of Daniyal - il
Select the correct answer from the codes given below
(@ 3,2,1,4 (b)2143
2,4, 3 1 (d) % 3,1,4
Consider the followrng events nd arrange them in
chronolog1ca1 order : ”:‘; Ainde i fd
1. Linlithgow August Offer

2. Cripps Mission arrival i 1n Indla

3. Ramgarh Congress Sessron L

Resignation letters of Congress Mmlsters )
Select the correct answer from the codes given below
(@ 4,3,1,2 (b)3142w

© 4,2,3,1 (d)1342,"

Match  List-I with LlSt-II and choose the correct
answer using the codes given, below the lists :

List-I ‘ LlSt-II'
(Book) (Writer)
A. Hindu Polity - D.D. Kosambi
B.

AL. Basham

C. An Introduction to the' 3. KP.J eyaswal

52.

A M awgawﬁw

Study of Indian History - ‘ | y
D. The Early History of 4./ Vincent Arthur |
India " Smith
Codes :
A B C D
@ 1772 4003
() - 3 aiZeilad ]
(c) 1 2 \3~ 4
3 2 1 4 .
_.(fl.).--------"""“"" - \ * 14 *

DST.F-12

ﬁaﬁmmﬁ%mﬁﬁmmﬁq
Frem A :

1. wE 1934ﬁmmvﬁmmﬁz

2. gﬁlﬁrﬁ% @%%maﬁqarﬂmmi

| et e 39 ool 3 e ge
Wﬁ%aﬁqmﬁwaﬁ%/%? ;

@ FA1TEH2 ) 12

(c) ‘WZ (d) w1

mmmmﬁmwﬁm

2. V@ YEh Ry

13 Sty
4. FEwdryg
ﬁﬁqueﬁﬁaﬁaﬁtiﬁq
@  3,2,1,4 . (®) 2,1,4,3
© 2431 @ 2,3,1,4
ﬁm%mmwﬁanﬁﬁqwﬁm
.,m@a?ﬁﬁq
1 Refrert w5 s st

2. - Trem v w1 v s
3.“ TG i STRATE

. I AR wmray
"ﬁ%ﬁqﬁqizﬁﬁaﬂwiﬁq:
@ 4312 ' @®) 3,1,42
;(c)’ 4,2,3,1 @ '1,3,4,2
“@Iaﬁaﬁ-nﬁg&%aﬁﬁﬁrqeﬁtaﬁﬁ%ﬁﬁu
TTT TR HT SR T T I AT
-1 TE-11
g:a) : @aF)
A. Rgifad 1.. S Sanst
'B. T¥ TR 2: CUS. s
C. i#s;‘rwngaee‘t 3. &Y. SwaE
D. 3oefi et oftw s 4. iz ammeft farer
Viini AL B .Coo D
@ 1 2 4 3 Sk
() . 3V i gty Eﬂ%ﬁ
Y 1 g 3 4
@~ ;3. 27004 4
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57..

o aw >

58.

O

59.

®)

‘Select the correct answer from the codes given below :

(a) Both statements 1 and 2 are incorrect.
Both statements 1 and 2 are correct.
© Statement 1 is correct, 2 is unpredictable.
. (d) . Statement 1 is corrcct, 2 is not correct.

(b)

Which of the following statements is not true about
‘‘ecological niche™ ? .

(a) Number of species becomes large in ecological
niche of natural ecosystem if “resources are
sufficient.

Dominant specles occupy extensnve and broader
ecological niche.
Dominance ' of
minimum if the
equitable in a habitat.

Number of species becomes small in ecologlcal
niche, if resources are sufficient.

' becomes
is

single- ' species
resource distribution

©

@

‘ " )
Match: List-I with List-II and: choose the correét 57'”_

answer using the codes glven below the lists :

. List-I e i Llst-II
‘ (BiospherejReserve) 0 (State)
Simlipal 1. Kerala
" Nokrek © 2.7 Odisha
"Agasthyamalai” ' 3./ 'Assam
Manas 4. Meghalaya
Codes : ' :
A. B C D
@ 3 - L4l
® 1 2 4 3.7 % :
© 2 4 1 3 oL
2 4 3 ‘1

@

Consider the following statements :

1. . Scientific investigation dcpends on comm1tment
" to practical ideals. ‘

2. Honesty is partlcularly impo'i‘t'ant"in science.

Which of the following is the correct order of pla(@
species from higher to lower order ?

(@ Order - Class — Phylum — Plant Kingdom
Class — Phylum — Order — Plant Kingdom
(c) - Plant Kingdom — Phylum — Class — Order
@ Class Plant ngdom Phylum — Order

58.

‘zrﬁ:ﬁ:a‘?maﬁwmﬂmmﬁﬁmwamg

amwﬁmmﬁwém%
frva & aft daeT vk € @

: ﬁmﬁzﬁéﬁa@rws’raﬁﬁ%j

L a1 @ AR A s et 09
wgmmmaﬂwgﬁq

(d) .

‘ffaﬁmmmm%wﬁraﬁmqt
ﬁs&m%l

2. ﬁmﬁmﬂmﬁmﬁmél

i e e F & vt s g :

(a) TFIEHN 1R 2TEAE|

(b): SFTFA 1 AR 2T AT

_M@)/Wla'a"r%,zammﬁm%l

(d) FH1ERY, 28R R

frafife & ¥ Frar 3= & fer wa 4 el 6
TeITferdt T GE ST & 2

(a) . 77— — WY — YIEq S
~ (b): T —FI - 0T YRy T
()  TeH ST — §e — ot — 7797
@ T -vmeww-dgg_mr 0



60.

61.

62.

@
(b)

£
With reference to the Antl-l\'iamst operation that took
Place in April 2024, which of the following
Statements is/are correct 71‘ ﬁ

o M .,
I It took place irf*Gadchiroli
Maharashtra.

2. The operation was launched by BSF and

district of

District Reserve Guards.

Select the correct answer from the codes gwen below

(@ Neither 1 nor2 ' (b) Only 2
(©) Both1and2 (’d)§ Only 1
wij

With reference to “PraVaH software developed by
ISRO, which  of the follqwmg statements  is/are

correct ?

1. TItisa path-breakmg feat by Vikram Sarabhai
Space Centre. Nigeedt ‘

2. ' Initial aerodynamic design of space . vehicles
requires evaluation of large number of

configurations.

-
1%

£
Select the correct answer from the codes grven below

4._.(a‘)‘ - Neither 1 nor 2 (‘b))q}5 Only 2 .
(c) Bothland2 (@) Only1l
. wg

' . a
Grven below are two statements one is labelled as

“Assertion (A) and the other as Reason (R)

Assertion (A)-: In ;Apnl 2024, India delivered the

BrahMos Supersonic Cruise Missile to Philippines.

Reason (R) a range of

490 kilometres.

: » The Missile ' has

Select the correct answer from the codes given below :
(A)is false, but (R) is true.
Both (A) and, (Ii‘){are‘. true, but (R) is not the
correct explanation of (A). .,

(A) s true, but (R) s false.
Both (A) and (R) are true and (R) is the correct

(©)
@

b

DST.F-1-23

e 2024 F FC ATRAEG-fRH SR F i §
fFrefafas § @ S-ard FA A /8 2

@ e werrg F gl frdt i gor o
A Ig 3T BSF (S1.09.T%.) qa%ﬁaazﬁaé
T g R AT AT |

:ﬁ%m’m?ﬁﬁ?&ﬁmﬁﬁ&
@ TAX1TH2 Ap) Faw2
© 13f2dH (@) Fa@w1

60.

T fafa “PraVaHa” d@iweam & g o
Frafefae f e oA s adt 33 9

1. mﬁmmma’aﬁmm
Bl

2. . i aret & e TR ResmeT & R
. o e # o 3 i Y ST Bt
&

ﬂ%ﬁqﬂqizﬁ%aﬂwiﬁq

(@ TAWX1TH2 () Faw@2

) 1 37k 2 At (@ Fad1 -

i S e Ry e ﬁﬁé@ﬁm(‘«)w

ZEHI T (R) FRTTTR |

FfrRYT (A) : 31 2024 F A 3 fchidia s

I T foTse SaH T | '

THROT (R) : foramser it AR &mar 490 foreiiet @ |

Hi R e e § & Tt s g

(@ (AT, g R) TR |

() (&) T (R) A T E, g ®), (4) T
T T AT |

() (A)THRE, ﬁﬂ(R)W%I

_/ma/(A)aen(R) 2w § o R, (A) R T

FTEATHAT 2 | (A

gﬂg

explanatron of (A) O ,‘ : Egg '




63.“Which one of the following pairs is not correctly
matched regarding peculiarities of Ramganga
pfoject? | : e
(a) Hydropower generation ' - 198 MW
capacity J 4 :
(b) Dam’s lehgth’ L - 825-8 metres
(c) Irrigated area P R %6 Tac hectares
(@ Location '~ Garhwal
i "':(Uttarakhand)
64. Consider the following statements with refefence to

5. | cultivated area of some eoqntries of the world
1. In compa'r;lson' to USA, China and Jopéh, India
has hlghest geographical area under cultlvatlon

2. Indla s location ,in. trop1ca1 monsoon reglon

helps d1versnﬁed croppmg all through the year.
- Which of the above state;hents is/are correct 7,
(@) ‘Neither I1nor2 (b) ‘Both1and2
(c) Only2 wEh (d)' f’Only l‘

65. Match List-I w1th Llst-II and choose the correct

answer using the codes glven below the llsts

Sl

] /‘(65

List-1 LlSt—H
(Place) (0 Conﬂuencmg szers)
A. Devprayag - 1. ‘Alaknanda and Pmdar i
' 'B." Rudraprayag ' ° '2.”““"“Alaknanda and t '
" Bhagirathi =
C. Karnaprayag | 3 Bhagirathi and
s :Bhllangna g
. D. Tehri b ,.Alaknanda and
v ’Mandaklm .
Codes : T R
A B G 4D e "Qgﬁ
@ 217030 g g e
® 4 1 2 3
© 2 4 1 B (cl
@4 1 3 3

64.
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aﬁrﬁmﬁﬁ%mﬁﬁ%w
aeﬂmaﬁaﬂﬁﬁ"ﬁ" e ot
(o) S A A - 9B
©) o - 825-8 Hiex
© Rifg e 1Y 46T W
£y '
@ R L T T R
ey
ﬁw%@m%ﬁﬁ%wﬁﬁﬁw&m
Mqtﬁ'artﬁﬁm il
1. USA, aﬂqaﬁtwﬁwﬁmmm
sl & St B |
y mqﬂgﬁmmﬁﬁm?ﬁ%mm
ﬁa&mﬁﬁ%ﬂ@w@m@m%l
Wﬁ%aﬁqw@mm‘r%&? i
vy
(@ AAITH2 ‘;@) 1aﬁtzaﬁr
ymz’ 3u(d) %am |
L I & e o of et 9 R
T S T SRANT L el I I -
TR weft-11
(¥9T) - @R e
A éasmm 1‘§ e ok fre B
B WM. jﬁj’ aﬁtwﬁnﬁa
D. f&= | 43W3ﬁtq&rﬁiﬁ
| ki,
A B ¢ D
(@ 2 3 1‘ 4
3 B4
RO R S =
) 2 4 1 i3 .
@ 4 1 3 -2A
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i 66.

67.

68.

" List-I' List-II
(Award) ‘ " (Recipient)
+A.. . Aryabhatta, - ... 1. - yAmitabh Bachchan
Award, 2024, . . :
B. World therary ‘ 2 Mamta G. Sagar
Prize, 2024 g A s i T 20 e
C. LataDeenanath 3. Dr. Subba Rao
l..‘Mangeshkarf 3‘? .. Pavuluri .
" Award, 2024 ' R
D.  Goldman ”w} 4. Alok Shukla
Environmental} ~ s
Prize, 2024 %
, Codes ‘ .
AR e p 5&%
(@ 3 2:554rTere T iR
®) 3 2 1 4.
(© 2, o3t 4
(- 4" 27 3

_ Match List:I with List-II and choose ..the ‘correct
A answer using the codes given below the lists :

" List-I ‘ List-IT .
v (Vitamin) f:ri (Disease)v ‘
&0
A. " Vitamin A" “#% 1. Beriberi
‘B. Vitamin B %:} 2. Blindness
C. VitaminC 3. Rickets
D. ' Vitamin D ‘4, Scurvy
Codes : , |
foh A B C D
@ 2 1 4 3
®b) 4 3 2 1
© 1 302 4
@ 1 2 3 4

DST.F-1-23

Consider the following days and. arrange them m(@ ﬁ'x:lﬁiﬁaa‘ ﬁ'ér{ﬁ T fear Eﬁﬁm AT EFIFHW LS

chronological order :
1. World Health Day

2. National Maritime Day

3. World Athletics Day

4.  World Red Cross Day :
Select the correct answer from the codes’given below :
@ 2,1,3,4.

® 4,231 O

© 3,2,1,4 5

(d) 2,3,4, 1 ;{%

Match List-I wnth L}t-ll and choose the correct
answer usmg the codes given below the lists :

£y

@-'

@)

M Rem e dwd s

©
'@Iﬁaﬁllﬁgﬁ%ﬂzﬁﬁqaﬁtqﬁﬁ%ﬁﬁq

w

@ -

- ©
@

J

1. ﬁﬁwﬁw :

2. wfmaghfeEm. g0
3. feorftsmfaa o
4, fEesmafEs |

(@
(®)
©

2,1,3,4 .

a :
4,2,3,1 EE
3,2,1,4 E‘%«._

2341

T S T ST R EE ST

| gl
() :
. AT R, 2024 L,
. fova ofeer e, 2024
QR 2024
!ﬁ—s.'&ﬂzﬁaturgazm
2024
*e ¢

Y .

| -11
(@)
aﬁamav—ﬂ )
HHAT ST, 9T

AT [EAT

2 w.

&

(®)

_— = aA

L N."’ W
N W NN
R N N~

@Imgﬁnagﬂmaaﬁqaﬁz@ﬁ%ﬁﬁq
T T AT et I g

-1 Het-1T

(fRerf) @

e A Sl

faafm B SLINE]

faafim

frafm D
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e ‘ X
B Hiftre o gRE
69. « Match List-I with List-Il and choose the correct | ‘ @Iﬁ@-llﬁﬁam fa
answer using the codes given below the lists : mizmm’ﬁﬂmaﬁm ﬂﬁﬂ:
List-I List-II | L qjﬁ-rr
(Canals) (Rivers) _ (:i??) el M (?I%ZW)
A. Upper Bari Doab Canal 1. Sutlej )
- B. Sirhind Canal " 2. Yamuna A, Sl SRy QraATe T8 | A
C. Gurgaon Canal 3. Sutlej, Ravi, Beas B EfER T 2. g
D. Indira Gandhi Canal 4. Ravi C 13’"“3‘ 3. gaq™, Ud, s
Codes : ‘ CT\ 4, TET
A B C_D D. sfeu el T m
(@ 3 2 1 4 - '5!? Al B : b
® 4 1 3 2 ks i Oslm?4
© 3 1 2 4. ® . A 3??] Lol
© FIL LB ot 28 %
: FIECHT Wb A (d) 4 1 o2
70. Which one of the following pairs | i3 o
- 231
' (Crop — Peculiarity) is not correctly matched ? @ frefafeaa g"‘ﬁ (T = ﬁm R
(a) Bihar’s contnbutlo_n t’o‘ '15:7% ﬁﬁﬁﬂﬂiﬁ'% 2ir | oo
rice production : J@" aﬁamﬁﬁ'&ﬂl’iﬁf . = °
(b) State where rice is grown - — West Bengal PIUCET ; .
- three times in a year i |- \_/(1;)’ @‘q’ﬁfﬁﬂﬁ'ﬁﬁ?ﬁ? O - ORET ST
(c) Isohyets that decide .= 100 cm YT LA Tt TS et ot
western limit of rice : (©) Wmaﬁmﬁaﬁ — ‘100
- production v TRl il A Fﬁmﬁﬂfﬁﬂ'%‘{}lﬁﬁﬁ
(d) -State with largest area - — Uttar Pradesh qHay! @ 9 |
under rice production £ 5 ; R (d) et Seed % A L W
Taifires &b Eﬁgl RS
71.  Consider the followmg statements w1th reference to - 3 S ﬁ = _
cotton crops : AT “' e e EELS

1. Cotton is mostly a Kharlf crop.

¥ escrrqg@rcr TE AR |
2. Cotton crop requires - moderate amounts of (/1/
rainfall varying between 50 — 75 cm annually. / RO o Jeare o forg =i 50 & 75 @t <A

’ erich of .the above statements is/are correct.t?: ¢l j wgﬁ% QWWW%H';?.‘T?% |
(@ Neither 1 nor2 - (b) Both'l and 2 » .
& ol 2. e A L ORI Y (@ Ta1TH2 1 3 2 <Mt
‘ () FaA2 (d) Fad1
72.  Given below are two statements, one is labelled as |72, < Q¥ s RRu &, & & T 1 A (A) T
Assertion (A) and the other as Reason (R): TE T HRT (R) RT‘FTD% |
Assertion (A) : Red soil denotes the second largest aaﬁm:r A): Fﬂ'@t&(j W%@W@WW
soil group of India. S I T § | o
Reason (R) : Red soil surrpunds the black soil in the HROT (R) : T JRTCHIA a1 s Sfqor, & 3T IW
' south, east and north directions. | ! ﬁsmﬁ@tﬁi@{% I N
Select the correct answer from the codes given below : = ﬁqwgt‘tﬁwﬁw
(@) (A)is false, but (R) is true. ' @ (A TEaR, fFgR) ‘Tﬁﬁ% |
(b) Both (A) and (R) are true and (R) is the correct B (A 3R (R) 3T &t & 3‘ﬁl' R), (A) & Tt
explanation of (A). : 51%% AT HAT R |
(¢) (A)is true, but (R) is false. Ci © (A)THE R R)TEEE
(@ Both (A) and (R) are true, but (R) is not the @ . (&) 3k @®) T @@ 2, R ®), 4) @
~ correct explanation of (A). AT T8 T © |
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73.

74.

75.

76.

~below : :
(a) 4: 2’ 133 (b) 2', 3, 4,1 N
(c).:‘ 3,2, 1,4 s (d) "1,2,3,4"

. Malthus argued that the populatlon grows ina

‘answer to fill in the blanks e

..A. Pradhan Mantri Awas 1., May, 2016
Yojana — Gramin HESOE O e 5
B. Jal Jeevan Mlsswn 2. October, 2014 -
C. Swachh Bharat 3. August, 2019
‘ Mission — Gramin :
D. PradhanMantri , © 4. November, 2016
Ujjwala Yo_]ana L5

Which indicators are used in Human Development
Index (HDI) ?

1. Income level

2.  Education

3. Condition of environment

4. Life expectancy °

Select the correct answer from the codes given below :
(@) . Only 1and 4 (b) Onlyl,2and3

() Only1and2 (d) Onlyl,2and4

Consider the following events and arrange them in

to the last activity :

1. Pradhan Mantri Gramodaya Yojana

2. Rural Employment Generation Programme

3. Prime Minister Rozgar Yojana %

4. 'Valmiki Ambedkar Awas Yojana -

Select the correct answer from the codes given

correct chronological order starting from the earliest @

/

progression, whlle agncultural productlon/food
supply grows in a progression.

From the following optlons, choose the correct

(@) Exponentlal Linear

(b) ' Linear, Exponential

(¢) Geometric, Arithmetic ~* °
@ Anthmetlc, Geometnc ke

Match List-I thh‘ LlSt—II ‘and choose the correct|’

answer using the codes given below the lists : (
List-I . List-IT Y
(Yojana Name) (Date of Launch)

Codes : b ;’* '

o
O+ DST.F-1:23

73. mmwmﬁm)ﬁmmm
9T foRaT STt R 2

T A e
o u
4 mnﬁasﬁaqaaﬁmm
T Py i s
@ Fishs () i, 2sh
(€) =132 & e 1,2 3004
et q‘d‘-naﬁ W fer AR o = ad
Wﬁm@w A TR F A IRl
- fafafras
1. Wm&mtﬁm
3. st st e
4. AcHifH TS AEE AT
@ 4,2,1,3 voo(b) 253,4, 1
© 3,214 @ 1,2,3,4
75.  WTewE o ae fea o s LU GRS
SR HY SeTeH/aTE AT s et 2 |
frfafea fwedt § 9, fm ot i off & fog &
?El'(
@) cnamzﬁ%

PLOR AL

(c) - Saferettar, ST
(d) TSR

(76 a1 9 & iR R s e A
Y 2 T SRANT R HE IR G :
g1 geit-1T
(T ) (@RE i)
A, SEFE oTETE AT A 1. W, 2016
B. et Sfie g 2. I, 2014
C. wswra @R amfor . 3. 37, 2019
D. e SeoefgR A1 4. Taww, 2016
%° ~




Which of the following is/are stated in the

Constitution of India ?

1. The President shall not be a member of cither of
the Houses of the Parliament.

The Parliament shall consist of the President
and both Houses.

Select the correct answer from the codes given below :
(@) Only2 (b) Both 1and2 g 8
(c) Onlyl (d) Neither 1 nor 2

25

Consider the following statements : .

An Amendment to the Constitution of India can be’
initiated by the :

1. Lok Sabha . 2.
3. State Legislatures - 4.
Which of the above statements is/are correct'?
(@ land2 (b)'l 2 and 3

(¢) 2,3and4 (d) Only1

78.

Rajya Sabha | ‘
President of India

79. Which of the following are the functlons of the

Election Commissioner of India ? ,
1. Conduct of elections for the posts of the Speaker
and the Deputy Speaker of the- Lok Sabha and
Deputy Chairman of the Rajya Sabha. ;

. Conduct .of - elections of

Corporations and Municipalities.

the M‘uvnicipal‘

. Deciding on all doubts and. dlsputes arlsmg out of
the above electlons ‘

Select the correct answer from the codes glven below

(@ 1land3 - (b) 2 and 3

(c) land2 (G)) None of the above

80. Which one of the followmg is'“not correctly
matched ?

-(@) .- Dantwala Comm1ttee
(b) G.VK. Rao
Committee
(c) Ashok Mehta
@

Rural‘ Cre‘dlt'

Planning at the
Block Level
Panchayati Raj
Institutions
Panchayati Raj
Finances

Committee
-Santhanam Committee

81.. Which one of the followmg is not correctly(

matched ?

2]

!
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77. m%aﬁmﬁﬁﬂﬁmﬁamm%%"
L. Wm%%@ﬁsﬁwaﬁrwqﬁMI
Wﬁgaﬁ(aﬁmﬁrﬁﬁwaﬁ?ﬁl
ﬁmm@ﬂﬁaﬂwﬁﬁq

o) T2 (b) 13he2 3
@ ¥l (d) TAWM1TE2

ﬁm%%ﬂmqtﬁ%maﬁﬁm s
mmﬁﬁ@émmmmmm
AT S : , ;

1. mwm ZWWW

mey mﬁmn@?ﬁ‘a’m 4. T o Tsgafer 5T
"Wﬁ%aﬁq@/ﬁwaﬁ%ﬁ?

@ 132 i"% (), 1,233

© 2331’1?43@ @ wL Eg

W%W%ﬂﬂ%ﬁnﬁiﬁﬁﬁﬁﬁ?%aﬁ%v

1. YR |7 % oTeIE SN ST TAT T {91 %
k mﬁr%qﬁ%iﬁqﬁaﬁwml

mmmﬁaﬂtwﬁﬂﬁ%%qﬁahw
B 0G|

_/3. mﬁmﬁahwﬁmwa%ﬁaﬁtﬁm‘rm
oo el i
ﬁﬁqv@ﬁﬁﬂ%"fﬁﬁﬁn
@) laﬁU . (b) 233

’ (c) 1aﬁt2 Q ‘(d) S &

ﬁn%%aﬁﬁaﬁqm@qagﬁaqg&%v
(a) - Saaren wiwfa — TyTefoT 0T

(b) SAF TR - e RAEN
() smhiEaraffy - e e et

78.

)

(a) Article 154 - Executlve Authorlty of the
: | Governor ' |

(b) - Article 153 |, — - Office of the Governor ’

(c) Article 156 ~ - Term of the Governor

() Artlcle 155 -  Removal of the Governor

(d) e wEfd B SIPGIRURAER
o) |
, e idl)
) et & 8w g
() TV 134y  — TSAUTE i HRBR TAHR
(b) 3":1?39?1%% — TSI T 98
(© IFWALS6  — Touwrer i wmEfy @)
(d) FTWT155 . — Tl B ESHT
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82,

83.

- Assertion -(A)

DST.F-1 -23

Match 'List-I with List-Il and choose the correct I G-I '&g&ﬁ.ﬁ ¥ '
answer using the codes given below the lists : g EI-TIIT?T I WWW*%@
List-I . List-II ? iﬁq il

A. Human 1. Intematroxi?l ﬁ;ﬁ_l T I
Development Report Monetary Fund A. uE R i ‘
B. World lg,conomlc ~ 2. United Nations B fg 1 W‘i“‘ﬂmm
Outlook Environment - 3fdieh I 2. Hgeh TSy e ke
c. ¢ 3. United N C Rubawiwd 3. dawuy fwwamim
. World Investmen . United Nations D o :
Report Development . ‘ 4. T IR ﬁmqw"ga;
Programme WG’@FW
D. Emissions Gap . 4. United Nations. % :
Report " Coﬁférence on Trade A B C D
: . and Development (a) 3 4 1 2
Codes : % ®) 3 17 4 5
A B C D L © 2 5 P 1 |
@idwidi T Bl SRR =
8 PHFR? o 4D oy |83 QA Fer Ry, Wﬁ@aﬁmmw
(@ - T D i3 v A pEe TH T F (R) FEEE |

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason R).

. The concept of Sustainable
Development was popularised by the Brundtland
Report.

Reason (R) : The Brundtland Report is also known |

as “ The Limits to Growth”.

. Select the correct answer from the codes given below :

84. -

8s.

o)

A.
'B. Hirschman 2.

(a)

(A) is false, but (R) is true. Ch
(b)

Both (A) and (R) are truePbut (R) is not the
- correct explanation of (A). ()
'(A) is true, but (R) is false. O&’
(d) Both (A) and (R) are true andy(R) is the correct
explanation of (A).
The following lists I and II ‘show the names of
Economists/Authors and their books respectively.

.Match List-I with List-II and choose the correct

answer using the codes given below the lists :

List-I List-1I
(Economist/Author) ' (Book)
Myrdal. = 1. Economic Theory and

' ' Under-developed Regions

The Strategy of Economrc 2
-+ Development

C. Kaldor . 3. Strategic Factors in
Economi¢jBDevelopment

D. Adam Smlth 4. The Wealthi of Nations

Codes : ‘ Y

A B C D

@ 2 3 15 40 ()

). 1 2.3 4 .00

©::. 2 1504, 3 4 N

@ 3 2 1 4

Write in descending order the following States on rhe
basis of their population as per Census, 2011":
1. Bihar » 2.  Andhra Pradesh

3. Uttar Pradesh 4. West Bengal
Choose the correct answer with the help of the

" following codes ;.

@ 1,3,2,4

85.

v (A) : Haa foem Y aron i siedis R
EQY ST |

THROT (R) : siecis RulE 3 “frema ol F i
AT R |

Hre e e # & wdt segfie:
@@ (A Teas, g R) TR
(b) (A) T (R) A T &, R R), (A)fru-{r
AT A
© AT RFFgER) T
) (A)am(R)aﬁq’rva"r%sﬂt(R) (A) it @
TEAT FT 2 |
Frfafaa gt 1 o 1 snfmRelRast % am au
STAI QEdhT 1 ST SRt € | GEh-l o el @
gﬁ%ﬂﬁggaﬁt@a‘r%:ﬁ%mﬂqﬁmmm

w1 -1

ErefE/AEE)  ((5®)

A fida 1. g LA UE steaace
. TR HTE FHHINS ST

. TRforeh Saed 39 geHiTi SaeTHe
. T AT 3T AT

W =N
N =W
—_wwW = n
-h-h#-bc

(@
2011 %I SFIYET % :
frfafeaa wsai ﬁ ww # faflae :
1. few 2. wwRA
3, IR —4, T

ﬁm%f@ﬁ%aﬁam%mmﬁmgﬁq
: ~(b) 3,4,1,2

IhT SHEEAT & U T
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cX :
?6 According to the E S - o DST.F.1.23
% rding to the Economic Survey, 2022 — 23, what . a7ifofer T, _23%
.. fiscal poli<_:y response did the Government of India y Wa;aa};(g%%ﬁugtﬁ?ﬁm
updenake in response to the aggravated global supply iR ST ?
disruptions ? : ot ‘
1. Decreasing food and fertiliser subsidies .. L. @E SLEEK b wfsaet ) &
2. Increasing taxes on fuel and imported products 2. AN srfad mqtfmtm' |
3. Reducing taxes on fuel and certain imported G 3 ARG STTATRI ST T T FH HET
products , S R e & e SR IR
Select the correct answer from the codes given below © (a) had 2 : (b) e 3
(a) Only2 (b) Onmly3 (@ F|EL L@ It o & g
(c) Only1 (d) None of the above ({8"}\ -1 @_,Lél;aﬁ-ll a gﬁﬁﬁ Hiftrg 3T gfrt & f= g
87. Match List-I with List-II and choose the correct J Wﬁzwmﬁﬁwﬂm :
answer using the codes given below the lists : it L g
List-1 - Listdl @R G FT) (FearferEr/emseft
(Social Security (Beneficiary’s 0 ; JNeM)
Programme) Contribution) ik 5 1 RearfRrryamTeft
A. Pradhan Mantri Shram 1. Beneficiary’s A. oy At AT ) TR il
Yogi Maan-Dhan Yojana choice - dﬁ':”. ; T o 552200
B. Pradhan Mantri Jeevan 2. T55 -%200 B. SumwAt Sfad s 2 :ﬁr =
Jyoti Bima Yojana per month AT 16
C. Pradhan Mantri Suraksha 3. ¥ 436 per year C. Wﬂﬁsﬁwgﬂm 3. T436 yfgad
Bima Yojana ol
" D. Atal Pension Yojana 4. T 20 peryear D. 3128 e AT  4..%20 afrad
- Codes : ‘ . D % : : ‘
Af IC 3 !.2%%’. Act- B € Dy
(@ 2 » Ok 20 4 1 3
(b):=2, w3 i 4 A et (@ _
2 1 4 M) @~ 3 A T it
(c) 3 3 1 4 OO
ity T g 4 . ) gg N 5o
- 88. Given below are two statements, one 1S labelled as :r v }
Assertion (A) and the other as Reason '(R). 88. ﬁﬁm RuTE, R AT Fr AR (A) T
Assertion (A) @ Development is being defined as a@’{ﬁm(R)ﬁTW%l "
improving living standards and we.lfaxze. ' SR (A) : #r SfieT T T e § aﬁ{
" Reason (R) : Growth in per capita income is not a |- %Wﬁmmm%! o |
sufficient measure of development. ] FROT (R) ofy =afe o # gf frrg < watg A9
Select the correct answer from -the codes given | &2 '
below : e : :n%ﬁqqq@ﬁﬁa%"rw@!: \
(a) (A)is false, but (R) is true. = @ (A) T 3, g (R)TAR £ o
(b) Both (A) and (R) are frue and (R) is the correct ) (A) T ®) T ad § M R), (A)
explanationof (A)- : sir@;na E%{?IT%I RTIF
¢) (A)is true, but (R) is false. ) g &) , o g f ed LI o
Ed)) Both (A) and (R) are true, but (R) is not the @ @ aﬁl;zg{) %H'z?r £ g ®), () &l
correct explanation of (A). 57 Y -am@T{::; Ll a;r o .
: hed by thef{gg) @ TR g I ‘i's"‘.'ai'
89. Arrange the following schemes lat_mc 1
Goveriment of India in chronological grder -and m@ﬁmm@(ﬁmmﬁﬁﬁﬁ
choose the correct answet from the codes given FHIAL: : |
below : o 1. fo e aroT freTE s
1. Integrated Rural Development Programme ) zavfm?ﬁmaafm AT
5. Swamjayanti Gram Swarozgar Yojana 3 e rftoT eI T arfafed
3.  National Rural Employment Guarantee Act 4 qYEEAT SH-89 RISl
4. Pradhan Mantri Jan-Dhan YQj ana _ we : :
Codes : ' @@ 3412 ) -1,2,3,4
@ 3415 ® 1,234 © 43,12 @ 2341
(d)___:23_;’:_‘_"3_!----------——-—--2—5'; """""""""""""""""""""""""
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" 90.

What does the term “Cereal Yield” refer to ?
1. The amount of cereal crops produced per unit areg

of harvested land ‘
2. The total productron of cereal crops in a given

o0

/ ﬁﬁ@ﬁﬁ?ﬂ%ﬂﬁmmm@am

'DST.F~1-23

I ST G HT A |TLY
L mﬁiﬁ%ﬂﬁmhﬁw&am
SO St AT

country |
Select the correct answer from the codes given below ﬁﬁ?ﬂq?ﬁ@rw:mtgﬁq ‘
(a) Neither Inor2 ~ (b) Bothland2 (8 TA17&2 (b) 1aﬁtza‘1=h
() Only2 @ Onlydj: A w2 @ a1
‘91, ' Which of the following statements rs true regarding | 91. ﬂﬂﬁﬁﬁm 2019 3R oms-Reawer,
" the trend of unemployment rate 1mInd1a between éﬂamﬂa-(aﬁg—iﬁ, % o & 2022 %7‘ ;‘13
. July-September, 2019 and July- September 20227 WWWW%O W Raiic .
1. It remained the same. : a“: . qgm@ ‘ .
2. 'ltdeclined. RNy 5 !
Select the correct answer from the codes given below ; 2 W]
(@) Bothland2arefalse. i L ﬂ%ﬁqrrqegeﬁ%vé’rmg&q
(b) 2istrueand 1is false.” (@ 1¥R2ATEEE
(c) Both 1 and 2 are true. | \/(‘{ _2@%3#(1?13?{%
(d). 1listrueand 2 is false. (©. 1323w tif] b
92. Who prepares/publrshes the Global Multrdrmensronal @ 1FR M2 MY E'%a :
Poverty Index (MPI) report ? | 92. 3t wgaTTETH T g (q:rtfran'é) e
1. (VIVL(E;i Banl; and International Monetary Fund mm%?
2. Oxford Poverty and World Health Orgamsatron /ﬁ%%aﬂtwlj’maﬁq(wﬁmqm)
(WHO) = . M ';#mﬁémaﬁtﬁewmmﬁeﬁ)
3. Oxford Poverty and Humanr"“‘Development )@3 SIS T aftc ‘ﬁm \,ﬁ,ﬁk
/" Initiative (OPHI) ‘ 2 HIFAl ST & (LT3
"4, United Natlons Developmen: ‘Programme L LA, Wwﬁﬁmm(‘w?ﬁ‘ﬁ-) :
i - (UNDP) - R e ‘ ﬁ%mwgﬁ%eﬁwgﬁq it
| i:ig(v:; the correct | answer| from the codes given “(a) aﬁﬁ 4 ®) 234
il i 8 | (o :
(a) Only4 _.(b), :-2and4 R ) 3°ﬁ‘4_; AD 134
4(¢) “3and4 0 (d) land4 o @ T THR TR I it 18 Frefafas Qsamei @
93. Arrange the followmg schemes launched by the ‘ ”EH@H i ”ii 1 ﬁliillaﬁtﬁﬁqueﬁﬁﬁ
Government of India in - chronologlcal order and : SR
choose the correct answer from the codes given|. . I Wmﬁﬂﬁ 3
“below : T () 2. vah e e A
1.  Swachh Bharat Mission 3. WU TS ST AT
i, 2, PradhanMantnKaushalV1kasY0Jana 5 A ST aeT STRE ¥ AT
173, ' Pradhan Mantri Garib Kalyan Yo_]ana { : '
. 4. Pradhan Mantri Mahlla Shakfi Kendra Scheme Re:
Ty COdeS gy, e R R T lwi I { i (a) 4!2’ 1;3 : (b) 2a 194a3
I@ A2L3 oL D @ L2 @ 1234
M T2 1,2,3,4 @"mm@ﬁ@sﬁ)‘mﬁmewﬁ
94.  What does the Intergovernmental Panel on Climate mqﬁaﬁqq(mmﬁm (3Tr§tftlﬁ1ﬁ)m

Change (IPCC)emphasize  regarding reductions in
greenhouse gas (GHG) emission ?

1. Gradual and limited reductions are enough.
2. Deep, rapld and sustamed reductions are essential.
Select the correct answer from the codes given below :
(a) Nelther 1 nor2 (b) Both land2 .

. WERI@R?
1. Aimehdfw Ty
2. T, ot ofR FrRem el ST § |

e e e & wd sw g
(@ Fd@1TH2...  (b) 13R2EME
( Fa@2-. . (d mr ______________



g&%

95.

. (@)

(@

96.

97.

98.

List-I' ik List-IT

A. Planting Hearth B Hungary -

B Cryophyte Steppe 2. Adolf Engler

C. World Floral Regions 3./ 'C.O. Sauer

D.  Puszta Grassland 4, Alrcticv,Tundra_

Codes : |
A B C D

@ 3 4. 2 1

® 4 3 2 1

c 1 2% 3y ol i@
3 eg R o

Which of the following is the correct sequence of(
phases of Biotic succession ? ‘

Ecesis — Migration — Stabilisation — Reaction

(b) Ecesis — Migration — Reaction — Stabilisation

Migration — Ecesis — Reaction — Stabilisation,

Migration — Reaction — Stabilisation — Ecesis '’

@

(@)
‘ explanatlon of (A)

Which one of the foliowing is correctiy‘ matched ? ,

(a) Pycnocline . — ‘Sea water densit){, :

() ~Ecoclinel'. P —>‘ | Biodiversitj" y

(c) Halocline ~ ' Sea water ter'nperafure
' Air temperature 1"

(d) Thermocline ~

Match List-I with LlSt-II and choose the correct(
answer using the codes glven below the lists :'

@ e g Tl AR § 7

gy

Lo °l
7 OST R

ﬁw%rﬁaﬁﬁ@raﬁq-méﬁa; 123

whwdr S Y S

(a) o — Y — Rt — s
) mm’—m—srﬁrﬁm—ﬁmm

(c) e — areTa — Sfafrar — Rerdertor

(d) e _ iR — fRereRor — e

) 2 ot R T &, Rt & T A AR (A) e

Given below are two statements, one is labelled as 96.
Assertion (A) and the other as Reason (R). a’gﬁ:aﬁm (R) FETTATE |
Assertion (A) : Relative humidity - decreases with &W A): '{Tlﬁm SATEAT AT o AAHH & 3y %
increasing air temperature. | e e | L
Reason (R) : Absolute humidity increases with [, &R (R) : a"“ﬁ—‘ﬂ"éﬁ qf*z%mﬁﬁa 31T # afg
increasing evaporation. . . , Vﬁ?ﬁ% l ALY
Select the correct answer from the codes glven below ﬁmW?ﬁaﬂﬂ Wﬁﬁq
(@ (A)is false, but @) is true. ‘ A) Trerd 8, g (R) wdiel
(b) Both (A) and (R) are true But (R) is not the| (@1 @A), it (R) 31w g, %’ﬂ @), (A) HI &
, correct explanatlon of (A). e ; EQT@T???WT 2l fi
(©) (A)is true; but (R) i is false. ©, @) w@ e, P R) W% '
Both (A) and (R) are true and (R) is the correct Ayl _/(‘d)v ») Sl R). a-'ﬁ w % 3ﬁ1’ (R)’ (A) ﬁ wet
T FTL | ety

EEE
u-vg &
(O

(a) mﬁm‘;ﬂ wrﬂwaaqqc—er

“'@Iﬁgeﬁllﬁgﬁ%ﬂaﬁmaﬂtaﬁvﬁ%ﬁ%ﬁq
fd?ﬂwﬂwaﬁmgﬁa
W—I : : p;d’r_n
A. R IR 1. ¥
'B. mzﬁtsrszécﬁ ‘ 2. TSI WIER
C. forea & qefiw &1 3. %ﬁaﬁw
A B C D
(a) ¥ 3 g R
) 4 3 ey
@ 1 2:y1834 004
@ 3 4 il 2
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99,

100.

101.

102..

103,

D

@
) Chromosomes ‘

@)

®)

DST.F-1-23

The content of ~computer; memory which (118 1 99, a;rqﬂaﬁ:wﬂam il ;T;r : {t
non-volatlle, even when mc(powcr goes off is : ﬁﬁ ot .
(a) ROM (b) i wREM /(a) ROM /) REM

(1\.‘3 ’
Which of the followmg is a correct relatlonshxp
between Fahrenheit (°F) and Celsius (°C) degrees ?

() °C=°F-27315" (b) o= —§-°F +32

(@ °F=°C-27315 (@) °F=32°C+32"

Which of the following statements,, 1s  not

!;.? !

true ?
€))

Protein. ¢
Functlonal segment of DNA is called genes

contam mformatlon, for

mherrtance

Given below are two'statements; one'is *labelled as
Assertion (A) and the other as Reason (R).

‘Assertion @A) : COZ, SO, and NO2 gases get
dissolved in rain water and produce acid rain.

Reason '(R) : Atrnospherlcg~ .
concentration ,of gases hke%f

dioxide and oxides of nitro

is' polluted due to high
rbon. dioxide, sulphur

Select the correct answer frorl;,‘, e codes glven below
(@ (A)is false, but (R) is true : i
(b), Both (A) and (R) are true and (R) is, the correct
explanation of (A). Ty

(A) is true, but (R) is false, "

Both (A) and '(R) are true, but (R) is' not the
correct explanation of (A)

©

Whlch one of the followmg groups have only input
devices 7

(@

Mouse, Keyboard, Projector ~
Mouse, Keyboard, Printer

; Mouse Keyboard Scanner

100. ﬁnﬁ«rﬁgﬁ%aﬁmmmﬂ‘msz( F)ma%aw( C
feft & = gt deg qwfar 2 2

'(a)' °C=°F-27315 (b) °C=%°F+32

o

! () °F=3°C+32

Frfafd & & 961 o T T 8 2

(a) Tl IR T s IR TS/ IS 3
) ma@qwﬁﬁ?éaﬁéﬁﬁl
) :‘s‘mq Fr it s A ST FEA |

(d)  sorrEm Hafdt 3 g FErTd W wEd ¥ |

102. ﬂ%ﬁwﬁqwﬁ o @ o =it e (A) T
aa%ﬁW(R)ﬁrw%l :
R (A) ¢ coz,sozaﬁtNozﬁﬁaqfaaﬁa-
Tt ¥ 3fit st aut S A E |

HROT (R) : FH LIS, ToHt SRATATES o)
W%mﬁlﬂﬁ@rﬁmm%m
' STHE ATy SR At R |

ﬁh“%ﬁﬁﬁw%ﬁ?:
) AT, g R TR
O @ 3k @ @ E @), @) W
| AT ERATR | | |
) AT R TR
) (A) 3 (R) I T T, ﬁrg-(R) (A) # T
SR T FaT R |

103. ﬁwﬁr@au@ﬁﬁﬁuﬁmmmw
feamsm) € 2

CF=°C-273-15 (d)

101.

(@) WRE, -, Norge
(b) =T, aﬁr-a’ré,ﬁa | %%
HISH, H-aE, WK =




———y

4

DST.F12
mw%mﬁﬁﬁwﬁwﬁm i
Hifeg :

1 uﬁﬂ#mﬁagaéafﬁ-m%m%%l
2. ot SR AT % 9 Mem |

2C R
104. - Consider the following statements with reference to | 104.
' early trade :
1. There are references of numerous river-ports in
ancient India.
i’h There were large entrepots of goods and traffic. 3‘T§?ﬁ' Fa 'élﬂT{-HT y e 33'&?{ Y
ich of the above statements is/are correct ? oy
(@) Neitherinor2 (b) Bothland2 (@ AW 1AL2 f(b,) 1 3t 2 3R
() Only2 (@) Only1 © FE2 «“d FHT 1
{3
105. Arrange the following Sen rulers of Bengal in|10s5. simer ¥ frfefaa &7 frdet AR FITHATIER
ascending chronological order : - e HifTe
1. Ballal Sen | '. (). v "\1 ST A
2. Lakshman Sen: ‘ G g%% 5 @EwdT e
3. Hemant Sen o . E%a .
4. Vijaya Sen i SRR 2 %ﬁﬁﬁ? ’ '
Select the correct answer from the codes given below : a Freas
(@)1 251543 ®) 4,3,2,1 A R T e I
© 3,4,1,2 S@ 12,34 @ 2L,43 ?(b) 4,3,2,1
; j : () 3, 4, 1,2 cd) 1,2,3,4
106.  Consider the folloWiﬂg statements with,referencé to ' E’i
BalramKhan e T 0 35 it _ 106.
1. Akbar gave the tltle of Khan-l-Khana to Balram
Khan. .
2. 'This title was not given at ‘the time of
appomtment of Balram Khan as Vazu of
Empire. ' e '_ ' /
“Which of the above statements is/are correct'?
(a) Neither 1nor2 ' (b) Bothland2 .
(¢c) Only2 (d) Onlyl
107. Consider the following Peshwas and arrange them in 107.
- ascending chronological order :
1. Raghunath Rao (Raghoba)
2. - ‘Balaji Baji Rao -
3. NarayanRao ...,
4. Balaji Vishwanath
Select the correct' answer from the codes given
below :
@ 3,4,1,2 ®) 4,2,3,1
©. L1324 @ L2324
* o7 *

f(a) TA1TE2

ﬁnmaaawaﬁqr‘

éwm%wﬁﬁﬁn%@%mwﬁanﬁm

L oyorer Y or of Y -G SR |

2w SR WS & oo % w9 ¥ S et A

s & e i A |
ST | | HH-E1/A FUT LR/ 2
NORE L
Cd) ¥t 1

3
n, =, }

(©) Had 2

ﬁﬁmwﬁwﬁ%‘f
mm@maﬁﬁg

L wwmcﬁan

v IS ISiRC)

3. ARETE

4. ST Ry

A Ree e # & ot s g

(@ 3,4,1,2 : ®b) 4,231
© 1,3,2,4 1,2,3,4



Bm | , ~ DST.F-1-23
ﬁg"i “l
| . 108, Match List-I' with List-Il and choose the correct 108, tf:ﬁ—l qﬁ{eﬁ-ll @{[ﬁ%ﬁfiﬁﬁq R W%ﬁ

! answer using the codes given below the lists :

TN T T W A
List-I U ListdI | faw e e B
" (Essayist) ~ "(Treatise) Ao a1 i
A. DevanaBhatta . 1. Dan Sagar (FeeR) ‘@T’W) g
B. Hemadri 2..  Parashar Madhav iy ‘éam'qg A ;
C. Madhvach a 3. Chaturvarga it e
ary ] © Chintamani B. & 2. | ‘RIQIU!’ lﬁya
D. Ballal Sen . Smriti Chandrika C. mﬂaﬁl?f 3. agaf'fﬁ?rmﬁr
Codes ; D. et 4. wfrafsw
Al B B CALRURR Y
@ 1 4 %% A B Gt D
)2 T 3 j @, 1 .45 .2 .3
(©)siid ¥ 3y e 50) 92 A 1T B
| @7 RN T e e ©: .4 3.2 1
| | " ‘ @32 4
j 109. Given below are two statements ‘one is labelled as ‘
& Assertion (A) and the other as Reason [R). . 109. H= ??f T ﬁ'Q;TTQ: %‘ ﬁr—rfr q QBG Hr aﬁﬁm’ (A) T
i Assertion’ (A) Turklsh mvas1on on Indla was| . aﬁqﬁm@)ﬁm%'
i v

successful. . Rey £ 1

: AT (A) : WA WH STSHHI HeT GoT |
Reason (R) : There wag no political unity in North

India ; ' RRT (R) : ST HRA & ToHifos waradi off | "%g
_ 3 i SO - M ReTgEwd

Select the conect answer‘%rom the codes given below el

, @ (A)TeaE, M(R)wé’r%l

(3 . (A) is false but (R) is true _ ®) @A) @ ®) A T F ah (R) (A) a o
NO) Both(A)and(R)aretrueand(R the 1 BT
_ - explanation of (A).: " ) s ag LRI W@TW%I

(©)  (A)is true, but (RYis false, " 77 © @ Fry® T

(@ Both (4) and (®) are true, but (@) | is nof the @ @™ R®) & 7@ E g ®), @) AT
' correct explanatlon of (A) i AT @R

) ¥

: . £ 1
110. Consider the followmg Statements regardmg V01ce of

Global South Summit (VOGSS); , .+ 110. e 1% vefoe wrew e (a‘TBﬁEﬁEHEH)%W
I India recehtly f;oncludezi 1ts 2nd Vmce of | d mq{ﬁ?ﬂaﬁﬁﬂ A
Global South Sumnpt I G R SRR TH A3E AT A
2. The term Global* Si)uth is related”to de\}eloped Waﬁzm%m%|
- countries, i, 2. TS WIS Eua: et dut w2 |
- Which of the above statements 1s/are correct ? Sq'ﬁiﬁ T A -G T T 0
(@) Neither 1 nor 2 e e (@ AR1TE2 Wsseipo it
© O it | o
(c) Bothlagd2 g i i : © 1 a2 3
@ Only1 il it Tl @ ¥l

J
J oy



111.

112.

113.

114.

Which one of the following pairs (Aluminium
Plant — State) is not correctly matched ?

(a) Belagavi — Karnataka
(b) Alupuram (Alwaye) - Kerala
(c) Hirakud — Odisha
(d) Muri _  Chhattisgarh

Which of the following pairs (Natlonal Park -
State/Union Territory) is not correctly matched ?

(a) PinVally - Jammuand Kashmir
(b) Rajaji - — Uttarakhand

(c) Simlipal — Odisha *

(d) Bandipur - Kemataka -‘

Given below are two Statements, ohe is labelled as
Assertion (A) and the other as Reason (R) »
Assertion (A) : The Hlmalayas are stlll nsmg
Reason (R) : The Indxan tectonic plate is. colliding
with the Eurasian plate. : .

Select the correct answer from the codes given below

(@ (A)is false, but (R)is true:
®)
correct explanation of (A).

(A) is true, but (R) is false

© -
Both (A) and (R) are true and (R) is the correct

@
explanation of (A).

Match List-I with LISt—H and choose the correct
answer using the codes given below the llsts

List-I Llst-II it i ,E‘,g%

(Coal Resources) (States) e ]
A. Hutar " 1. Madhya Pradesh
B. IbRiver 2. Chhattlsgarh
C. Tatapani — Ramkola 3. Odisha
D. Umaria 4. Jharkhand
Codes : ‘ i

A B C D

@ 2 1 3 .4
® 3 2 4.4
© ‘4" 2n 3 ar
@ 4 3 12w d

113.
133i(a)

Both (A) and (R) are true, but (R) is nof the[

114.

N DST F.1.
1 PR T G g
- e AR 7E § 2 3
(a) STt - wew
(b) I (IITA) -
() fuFs - e
@ T - TeTg
112. ﬁnﬁfbﬂgﬁmégm—wm-mmﬁg
-9 T GARTT TET R 2
(@) fmaeh {%’gﬂqam
(b) TSI ??3‘6(1@3
© R - SAfeem
@ R - e

5 o) FuT Ry T &, R & T F AR (A) T
aa‘(a%m(R)ww%I -
aftrme (A) : foeE onft f SR @RI

HRUT (R) : Wé@%@zvgﬁm@z&m@
7l | :

4 ﬁﬁqwgﬁﬁaﬁmgﬁq

(A) T &, P (R) W & |
'(b)_(A)aﬂt(R)aﬁrae‘l% g (R), (A) FT &t
: ;m#ﬁm‘% i
© (A)THE g @R) TR égi's
@ (A)3ﬁT(R)??l=ﬁaé’r§3ﬁt(R) (A) # T
mm%l i
ﬂ@-lﬁ@-ﬂ@g&%ﬁaﬁﬁmaﬁwﬁﬁ%ﬁﬁq
T T T TAT HT HE S G : .
b"'fﬁl o)) @-H
o (PIFATHER) (Y [TS)
A g (f;") 1. AEFWRY
B. Wq?ﬁ . (y‘:)- Sl AT
C. a3 :‘\ 3 shfem
D. Jdfar. U4 gwEs
%
A B C 'D
@ 2 1+ '3 4
® 3 2 4 1
(c) 4 2 3 1
4 3 2 1




e \ |
o s ’@Iaﬁ@ugmmaﬁtqﬁﬁ%ﬁﬁq
115. Match Lnst-I with LlSt-H -and_choose  the corr 115. S Eﬂtﬂﬁq

answer using the codes given below the lists ;. T < A T4 . H‘v‘ﬁ-ll
List-I +| Listll o2 el | e am
A. Cooperative Federalism _ 1. K.C. Wheare [ A. wEhill S :
B. Bargaining Federalism - 2. - Ivor Jennings B, GRSl €S _3"3 SR
C. Quasi Federalism ..3.  Morris-Jones . C. o1d guare 3. AfE: ilfl
D. Federalism with * /4. Granville Austin D. ¥ < S 4. e it
Centralising Tendency, = v HT
Codes : ' b : B ekl @Y ‘
4 i e - T G
W FeE DY b BT D T
(a) 2 1 4% 3. - (a) 2 Ao 1 Vi lj"4' 3
&) 2 w3 170 T o2 Shianas 1
© 3. 42 gpiea s V) ) © -3 24y
@ 4 3 1 33‘ ok @ 4 3 1 2
116. Which one of the followgng is not a level in the 116. mmqﬁﬁmw@qﬁ '{a’ﬁ'qqa'm;ﬁm
three-tier Panchayatl Raj (ecommended by Balwant ﬁ ﬁqﬁqﬁgﬁﬁﬁﬁ? HT@W'TE»‘?% ?
Rai Mehta Committee ?  {¥ f:} 1 (@) T
"(a) " Gram Panchayat g} L ®) mﬁ"é{ﬁﬁ'
(b) Panchayat Samiti * T (@ mETERE
(c)' - Nyaya PanChayat ! 1 ) e dSEd
w(d) - hayat -
@ 2ilaFpacee 117, e oht e SRFEE, 2013 % SR
117. According to the Lokpal and .Lokayuktas Act 2013 | AYeRaTer Cohr ﬁgﬁﬁ trgq% T Th =9 gifg $
the Lokpal would be appomted by thefPresu;et;t after RIS U6 W % o S, R 1oy YU
obtaining the . recommendations-;.of .a Selection v S qr R o= i ¥ AR
- Committee, w1th the Prime’ I\ﬁmlster as chairperson S Nl
7 “and consmtmg, among otheis, f the following : SULS '
IR B Chief Justice of India pF Supreme Court Judge 1. R 3 g@q TIITEIT%ﬁET I I g AR
7 nominated by him'’ ‘{w»"{' {ECEENEE () | WWW#W
2. ;- Chairman of the RajyaShbha Ay 2. WN%WW% ‘
3. Speaker of the Lok Sabhia.. 3. i 99T 3T e E%,%
4.  Leader of Opposmon §nihe Lok Sabha Fﬁ*mﬁﬁmiwﬁm Ok
I . Select the correct answer from Ihe codes glven below "T-ﬂ% §9 ’
@ 2,3and4 7 (b) “1;2and3 k) ﬁ;:q§4 a‘é’rmbgiilql s
(c) 1,3and4 (@) 11,2,3and4 A 1, ontl ®) 1, b
S d) .1,2,33R4
118. Match the: Amendments Wlth their year of 118 w?m:h 3 @
implementation : - ! LEE A = £ LARIERE %Eﬁfﬁﬁ?ﬂ?ﬁﬁﬂ
A. 42" Amendment :',"5;1_ 1985 A. 424t G 1. 1985
B. 52" Amendment 2. .2011 B. s2ai€uiq 2. 2011
C. g6th Amendment (“j«@ 1976 C. "863?[#@{%17{ 3 ”1976.
D. 96" Amendment fWM, 2002 D.  96at T "4, 2002
~ Select the correct answer ﬁ-c@ the codes given below ﬁﬁqﬂq?ﬁ%%"rm ?]_F-TQ :
A B C Db i :
; ! A B C D
@ 4 3 ,_2 f_;_:; ‘ ! @ 4 s 5 :
®) (2,010 B A g ® 2 1 3 4
@ ity AR © 3 1 4 2
d 1 2 3 :
----- Q2 lmd i L @1 2 3 g
K *30* e R i o i T
=



. With reference to ‘‘Nepal—India International
Sanskrit Conclave —2024”°, which of the following
statements is/are correct ?

1. It was held at New Delhi.
‘2. This three-day conclave was organised by the
Niti Anusandhan Pratisthan., ' Ty
Select the correct answer from the codes given below :
(a) Neither 1 nor 2 (b) Only2™

(c) Bothland2 (d Onlyl -

With reference to ‘‘Lunar Polar. -Exploration
Mission”” (LUPEX), which of the followmg
statements 1s/are correct ? :

120.

1. This 1s an India— Japan partnershlp for their
joint moon mission whlch shall be launched in
the future.

JAXA is responsible for developing the'lander
for. the mission, while ISRO is handling the
rover and launch vehicle.

Select the correct answer from the codes glven below
(a) Neither l nor2 . (b) Only2:
(c) Bothland2 ' (d) Only 1

With reference to | “Guldehnes for Ellmmatlon of
Corporal  Punishment’’ (GECP) whlch of the
following statements is/are correct '7

121.

1. The Tamil Nadu School Educatlon Department
issued these guidelines on 260 April, 2024.
2. These guidelines are focussed on safeguarding

the physical and mental well-being of students

Select the correct answer from the codes glven below

(a) Neither 1nor2 - (b) Only2. g
B e
=

(c) Bothland2 (d) "Only'1:
With reference to ‘‘FLY91’’ which of the foli_owing
statements is/are correct ?

122.

1. Itisanewly launched airline in India.

2. Its inaugural flight took off from Manohar

International Airport on 18th:March, 2024.
Select the correct answer from the codes given below :
(a) . Neither lnor2 = (b) Only2

DST.F-1-23
119, 397t — ST W depa W -2004" %
mﬁaﬁqﬁmﬁﬂaﬁmmfamaﬁ%/%?
1. W#ﬁwﬁﬁmﬁﬁﬁmwml
2. mmmmﬁﬁmmm
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4§ 132 () ¥l
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120. ?ﬁtqﬁmm@’(‘ﬂ?ﬁ?ﬂ” (@) F T F

ﬁmﬁl@aﬁ%ﬁ#@f&ww%ﬁ? |
1. 98 9wd - w%aﬁaagﬁwﬁm%%n
e &, St sifdyey # @t foRar ST | '
2. Jmmn%méamﬁ%%ﬁ
fRomer 3, aa%ISRoﬁataﬁmeﬁ
TAA@IN
ﬂ%ﬁQ’l’Q?ﬁﬁHﬂW‘aﬁq
(@) ??ﬁl?‘é’mf,f (b) %Em
() FEA 1
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1. 26 3, 2024 i g we e R 33
- fem-fdw S fpw |

2: ﬁﬁmﬁ?ﬂm%maﬁtmw

ﬁg(aﬂqt%ﬁ'cr%‘l

#1 Re e e F A @l ST

(@ Aar1TH2" (b) Fa2

© 1aﬁt2a’r-fr"§ @ ¥l

qHTETETs 9177 (FLY91) ¥ g § Pafafea § @
ﬁ-r-mféwa?t%/%?

1. aawr&rf-r‘ T o1 TS 7 TRETE 8 |

T uEeh S 18 W, 20243%11:!33(

122. .

(c) Both l:and 2 () Only_l

2.

sl g SR A I g
#9 R g2 § 4 g@ swghe:
@ AAX1AE2 ) FEA2
© 13M2d (@) ¥l



123,

124,

125,

126.
127.

128.

129.

130.

131.

132,

" (a) Aquatic habitantgv 130’
- (b) iAbiotic - 07
(c) Biotic r?f] e
(d) Terrestrial habitants
The joint where the neck joins the head is : 131.
(a) Saddle joint ' (b) Pivotal joint ‘
(c) Ball and socket joint  (d): Hi.nge joint
The disease-causing micrborganism among these is : |132.
(2) Pathogens  « '(b) .Archaea Jmop
(c) Protozoa i T S ( c) MRS
--------------------------------------------------------- * 32* TR

(9 MERS-CoV-2 () 'SARS-CoV-2

The only vein that carries oxygenated blood is :
(@) Cystic vein (b) Pulmonary vein

(¢) Hepatic Portal vein (d) Cardiac vein
Diabetes isi the most common disorder associated
with : ' o, ‘
(®) Gallbladder ' 54(b) Kidney
() Pancreas = (V(d) Liver

()

The recent global pausg{during COVID-19 pandemic
Wwas causeddueto: ‘') o L
(@) H5N1 c«(®) SARS-CoV-1

Milk is an example of : * '

(@ Sol” "I (b) Foam -
(©) Emulsion '~ (d) ~ Aerosol

"The forfnuiébf'b'éldng sodais: _

' () NayCoj 'l " (b) KHCOy
(6) NaHCO; d) K,CO;
CPRstandsfor: =~ ) '
(@ Cardiac Pulsatile(R3vision - |
(b) Cardio Prbgrarnn’({éj%lescue

(c) - Cardiopulmonarxd{]evision E5E
(d) Cardiopul‘mona‘ry‘ Resuscitation R E&i
A bus covers the first half of a certain distance with

- speed Vv, .and the second half with a speed V5. The

average speed during the whole jourqey is:

L2y, . eV V!
(@ ; () T

YiENg RPN P L)

(C) «’VI Vo ; g i(d) T

Plants and animals thatliVe on land are called )

123.

124.

125.

126.

127.

: DST'F‘1.23
o wE B S e IR W T e |
Ll 4
() Ryfes BT (b)  IHR Ry
o RRsdaRm (@ FiEfn
e 7 o O oA WO TR, Wi gy
(@) fommd o (b)) THE
(0 F=EEE (@) T
mé’rﬁ'ﬂﬁﬁ@wW%WQﬁWMW
FRTL: | ity
(2) HS5N1 ‘ (b) SARS —CoV-|
() MERS-CoV-2 (d) SARS - CoV-
PRy,
@ ¥ e ), oy
© T (@) WE g8
- (a): NayCO4 + (b) KHCO,
(c) 1“NaHCO5 W v (d) K,CO,4
CPR (&tdt.om) Ay

128.

129L.'qméi§fia;ﬁﬁaﬁaﬁaﬁrqseﬁmq§vlnﬁfﬁ

(a)  wHIfSaE UedeE @YET

(b) Eﬁﬁrmm
(©)  wfEAaeHIT g
(d mﬁ!ﬁqﬁrhqﬁgﬁﬁa:r

w
P & 0 o el 8t v, R @ e 2 g

ﬁwﬁaﬁmnﬁfmi&ﬁ?

2V1v2”'. . v1v2

. _(a_) _.YI+Y2 . 4 ®) v+ v,
O v, gt
I R A Y st e e e & 9
(&)  cftr et |
®) s
© =
@ wrfafemt
ﬁmaﬁnﬁﬁt%ﬁmﬁ%;
@ @R ) s
© TN (@) ferae
“ﬁ%ﬂ“%ﬁmm%:
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133.

134.

135.

Sowy

136.

(@)

" With reference to RudraM-II Missile,'whieh of the
_.following statements is/are correct ?

Who among the following won the best actress award
in the Un Certain Regard category of the Cannes
Film Festival, 2024 ?

Anasuya Sengupta
Kiara Advani -
Sobhita Dhulipala

Urvashi Rautela - '+

(b)
©
@

1. Itis an air-to-air mlssﬂe

2. Itwas tested in Ra_]asthan in May 2024

Select the correct answer using the codes given below :
(@ * Neither1nor2 i (b) Only2: ‘
(c)- “Both'1 and'2 () Only 1

Match List-I with LlSt-H and choose the correct
answer using the codes glven below the lists :

List-I | List-IT
(Newly Elected Hedd ( Country)
| of the State) .. SrEh
Gitanas Nauseda - 1. Iceland
Luong Cuong 2. . Vietnam'
Halla Tomasdottir 3. Lithuania'
Jose Raul Mulino 4. Panama
Codes : ' '
A B C D
(@ 3 1 2 45 ah '
®) L] 2 A i v mp fi £ ,- ;
© 2 1 3 4 ‘E&Eﬂ
d 3 2 1 4 El
What is R21/Matrix-M™ 2 b
(a) Vaccine against Malaria developed by Bharat
Biotech Intematlonal ’ P
(b) Vaccine against Malaria developed by Serum
: Institute of India ;
(c) Vaccine against AIDS developed by Bharat
. Biotech International
(d). . Vaccine against AIDS developed by Serum |

123
133, ﬁmﬁ-ﬁaﬁﬁﬁﬁﬁaﬁmmﬁ;ﬁ@a 2024&;:ﬂq

i fod et e A e s

(a)
(®)
©
@

134, -l e ¥
wrag ey
| 7EEar-d-gar i AR ATl EEe R

2. gaTadeor 7E 2024 F Teredr BT ET )
9 Ry e e 7 & e SWCFAT :

@ FdA1TH2 . (b)) FAA2

(c) 1 32 @At (d) Wl

-Ia%?ﬁ-llﬁgﬁ%ﬂiﬁﬁqaﬁf@ﬁ%ﬁﬁq
fza?rmﬁwaa‘w‘a"f" BRI

135.

Rat
¥7G) @)
1. EEds
2. femam

3. forgenfyar

b w A

136.

Institute of India

®) mmmgﬁmmmﬁuﬁﬂm%
Raems =t

(©) mmﬁ%szﬁmﬂmﬁmﬁa@%.
g et !

@ vﬂmmﬂzwgms%mmﬁmﬁmqw%
Reemes A
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137,
138.
|
|
l
ii'
|
1
139,

Consider the following events and ‘arrange them in

chronological order : R

1. World Heritage Day E&i

2. World Thyroid Day

3. World No Tobacco Day

4.  International Day of Light

Select the correct afiSwer from the codes given below ;
e

@ 1,423 G O 31,24

© 42,31 CO @ 231,4

Match List-I witIZ\_List—II and choose the correct

answer using the codés given below the lists :

List-I - List-II
(Person) " (Reason)

A. Gopi 1. First Indian Gymnast to win
Thotakura = Gold at Asian Championship

B. Dipa 2. :Indian born NASA scientist
Karmakar who led the team to study

v, solar ecliptic impact on
. “Fjonosphere

C. Aroh 3.{.;,_'.;First Indian Space Tourist

Barjatya )

D. DevPatel 4{“British actor who made his
- e directorial debut with thriller

] ' %“Monkey Man”
Codes : . L
A B C D
@ 3 1 2 4
®) 4 1 2 3
© 2 1 3. 4
@a 3 2 1 4

Given below are tWo, statements, one is labelled as

Assertion (A) and tli?‘other as Reason (R).

Assertion (A) :{_:;:Puring 2023 -24, Singapore

emerged as the largest source of FDI to India,

Reason (R) : Thgi}ndia — Mauritius Tax Treaty

amendment has brought a major shift in countries as

major sources of FDI to India.

Select the correct answer from the codes given below :

(@) (A)is false, but (R) is true.

(b) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

() (A)is true, but (R) is false.

(d) Both (A) and (R) are true and (R) is the correct
explanation of (A).

DST.F—1.23
137, Prffen merell W RER RN @ gy
1. g T e
2. T urgiige ik g%%
4, Uy oo
= R e # & vt ST

b)) 3,1,2,4
@ 2,3,1,4

(a) 1: 4’ 27 3
© 4,2,3,1

. g1 g1 & AR FIRTT i gRET F AR

T e T ST T H IR AT
D TR poT
(AfRF) O (@R)
A Mt elerT 1. R AReEi § @l ey
B. fMTHWE 2. WA 9 NASA difres
‘ - = st R
T o ST T STET
areft 3 & e foman
C. 3% 3. UE WA i wew
D. JWweSA 4. forfesr stfivar Rt frem i
| B & q forder o oot
kL
i AL B C D
@ 3 1 2 g4
® 4 1 2 3
) 2 1 3 4
@@ 3 2 1 g4
- R o R T ¥, it o s () @
THUHI R (R) FRT T R |
(A) : 2023 - 24 % SR RiT, e 3 FDI
1 W T B ST I |

PR (R) : RA — Wilierd & Ry ety § g &
mﬁ%sﬁﬁ%m(ml)%ug@aﬁa;gqﬁasﬁﬁ

IST AT AT |

#ﬁﬁqmgﬁﬁmﬁwgﬁq:
@ AT, g R EE e

® @) 7 ®) W v e Ry, (4) B
AT T war | b

©  WER, frg ®) e
@ (A) T (R);ﬁ @ & ok (R), (A) B @
: |




g2

@
140. -

with reference to “India — Australia Economic
Co-operation and Trade Agreement (Ind— Aus
ECTA),” which of the following statements is/are
correct 7

1. This is a first-of-its-kind initiative of FTAs.

2. The meeting was attended by the Commerce

141.

142.

Secretary of India, Shri Sunil Barthwal.
Select the correct answer using the codes given below :
(@) Neither 1 nor 2 (b) Only2
(c) Bothland2 . (d) Only1

Match List-I with List-Il and choose the correct
answer using the codes given below the lists :

List-I List-II
(Joint Exercise) (Dates)

A. India — Uzbekistan Joint 1. February
Military Exercise, 19-27,
“DUSTLIK” 2024

B. India— France Joint Military 2. May 13 —26,
Exercise, “SHAKTI” 2024 '

C. Harbour phase of Indo—US 3. April
Joint Exercise, Tiger 15-28,

. Triumph, 2024 2024
D. MILAN, 2024 4. March
18 — 25,2024
Codes :
A B C D Ege
| 2

(a 3 2 4 1

® 3 4 1 2

) 2 3 1 4

@ 4 2 1 3

With reference to “Shaksgam Valley”, which of the
following statements is/are correct ?

1. Thisvalleyisa strategic key region, that is part
of Pakistan-occupied Kashmir (PoK).

2. India has lodged protest against the
infrastructural development being carried out
by China in this valley.

Select the correct answer from the codes given below :
(a) Neither 1 nor 2 (b) Only2
(c) Both1and?2 (d Onlyl

140, e — iR

141.

- (b)

142.

DST.F-1-23
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o g i e ¥ afored e off G S 3
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(@ FA1TE2 (b) FIA2

© 1323t @ waal
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M — ST T & ST, 2. T 13 — 26, 2024
«gifF” (SHAKTI)

T — G TS ITAREHT T 3. 3T 15 - 28,

Y T, TR AR 2024
(Tiger Triumph), 2024 =T
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s
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ia Joi T wEdnT vl A S
143. With reference to the 7" India—Indonesia Joint| 143, 7eff ﬂﬁﬂﬁ Sy Hﬂ;ﬁqwa Sh
. Defence Cooperation Committee meeting, which of g I Prefiaa H & FUT

the following statements is/are correct ? 1. @RHH 3@5”;”“ A, F, g &I 3R
1. In this meeting Indonesia agreed to enhance ageelid TET % &R F wwd oy w wmnfy
; collaboration in the areas of defence, m(!uStf)’, SCIEL .
maritime security and multilateral cooperation. 2. TgASH 5 TF, 2024 I Tt i SRS
2. This m%tazting was held at Jakarta on| . :ﬁ%ﬁqﬂq@ P iﬁq:
May 5,2 ' 1782 (®) Fae2
Select the correct answer from the codes given below : @ T ar
¢ Iy 2 (¢ 1323 @ Fae1
(@) Neither 1nor2 - (b) Only : ] ]
© Bothland2, (4 Onlyl e | 144 “FWD 200B” % &< # Fraferfen § & Sand s
i & ”, which of the )
144. With reference to “FWD 200B”, w T e
following statements is/are correct ? 3 ., l. 77 WWWWW “UAV” R )
1. Thisis Ind1a s first indigenous bomber ‘‘UAV oE 5 <oy AsiTe ST 100 m% |
aircraft. - s ‘ ﬁagﬁwgﬁq
2. Its payload capacity is 100 kgs. -'ﬂ%ﬁq’m? St
) it below : (@ FAA17TE2 (®) 2
Select the correct answer frq;qngthe codes given . ‘ N
(8) Neither1nor2 (53 Only2 : . () 1323w @ Fi
. (©) Both1and2 (d) Quly 1., 145. -1 G-I ﬁvﬁ%ﬂaﬁﬁqsﬁtaﬁﬁr%ﬁﬁq
145. Match List-I with List-II% And choose the correct m@mmmaﬁrm?ﬁﬁ
answer using the codes g1ven3below the lists : @_I Hjﬁ‘-ll
List-I i \‘é List-II . (ST HT ) (aﬁmmﬁﬁaﬁm)
(Name of the City) . (Period of being . . N
~ Planned) A, FHEgE TR
‘A’ Kanchipuram - 1. Post-independence " B. S@en 2. iufrafies s
B. Jaisalmer “2." Colonial Period C. FredFETE 3. wee
C. Kodaikanal 3. Medieval Period i s J—
D. Bhilai 4. Anment Penod
‘ R P %<
. Codes : A o
‘A B C D};‘? A B C D
@ 4 3 2 10 P i @ 4 3 2 1
®) 2 3 4 11“: , e ® 2 3 4 ; -
© 3 4 1 2‘:} J E%% () 3 4. 1 =
@ 1 2 413 ‘4,:_.3 Y E @ 1 2 3 4 34 R
146 Match List-1 with' List-1™and choose the correct 146. -1 = i1 & ghfra i i gl
answer using the codes given below the lists ; | ﬂquﬂﬁﬁﬂaﬂaﬁmﬁﬁq
List-I Listnt i1 et
(Famous Local (Place/Area) o (;Wﬂ/a?ﬂ)
A. Mango shower 1. Punjab to Bihar -, A. et ' .
v B. Blossom shower 2. Kerala ’ B “ﬁﬁr?ﬂéﬂﬁiﬁiﬂf 2. T - a
'C. Norwesters o3, Kamataka Coastal Areas C. HA-sgrEt 3. ofi T '
D. Loo 4. ,W§§t Bengal - D. § 4.
Codes: - | ‘:ri :
@ 4" vl e A B¢
®) 3. .24 5 4y i (2) , 1 4
© 1.3 3 pf ® 3 4
| - | © 1 3 2 7 o
@ 3 °MhF U ] A i
-------------------------------------------------------------------- d._ 3 2 e



148.

149.

150.

he following pairs is not correctly

Country
" — Ethiopia
Myanmar
— Canada

—  Ireland

Wwhich one of the following pairs (Deccan Trap —
peculiarity) is 10t correctly matched ?

(a) Intertrappean beds — Fossils of sea plants

and animals
1200 metres
approximately
450 metres
approximately

150 metres
approximately

() Depthof middle trap —
(c) Depth of upper trap

(d) Depthoflowertrap -

Given below are two statements, one is labelled as

Assertion (A) and the other as Reason ®).

Assertion (A) : Jet streams discovered during World

War II are high altitude easterly winds.

Reason (R) : Jet streams flow with a speed of

300 — 500 km/hour.

Select the correct answer from the codes given below :

(@) (A)is false, but (R) is true.

(b) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(c) (A)is true, but (R) is false.

(d) Both (A) and (R) are true, but (R) is not the

Match List-1 with List-II and choose the correct

correct explanation of (A).
_answer using the codes given below the lists :

List-1 List-1I

(Country) (Mountain)
A. Spain— France 1. Alps
B. Switzerland 2. Apennine
C. Bulgaria 3. Pyrenees
D. Italy 4,  Balkan
Codes :

A B C D [3%%

@@ 3 1 4 2 =
® 3 1 2 4
c 4 1 2 3
d 2 3 1 4

147,

148.

149.

150.
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i Fi-a1 I T GAfera TE R 0
e aw

(a) @A _ genfEn

(b) TUEfEr - HEER

(c) 3fMemr - FAE
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Pt g o o i
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(b) mARTREEE - 1200

© IR - ST 450

@ FregefRmeE - ST 150 T
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ARHAT (A) . Rl foreg 7€ % O BRI T SR
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HRT (R) = HE el <Y SaTe T 300 — 500 fersft i
q-z_[%l e

73 R e B & SR
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®) (&) I ®) 2 Tl ¥ o (R), (A) H T
e |  EgE
© (ATRERFgER T ok
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ST e FATR |
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e ¢
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® 3 1 2 4
€ 4 1 2 3
@ 2 3 1 4



